
PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

BOOKS AND MANUALS  (No VAT)
B0020 J Type  manual £12.50
B0024 KA/KD Instruction Manual £12.00
B0030 NA manual £12.00
B0035 PA/PB manual £12.75
B0040 VA manual £16.50
B0045 SA manual £12.50
B0049 TA manual £16.00
B0050 TA/TB manual £16.00
B0055 TC manual £16.95
B0060 TD/TF (softback) manual £19.50
B0075 YB manual £26.00
B0110 K type parts list £8.00
B0113 L parts list £11.00
B0115 NA parts list £10.00
B0135 TA/TB parts list £10.00
B0145 TD parts list £14.00
B0155 YA parts list £15.00
B0160 YB parts list £21.00
B0175 TD Operations manual £5.50
B0181 TF Service Book £0.50
B0185 YA Owners handbook £20.00
B0190 YB Operations  manual £12.00
B0195 TF 1500 Sales Brochure Reprint £8.00
B0196 TF 1250 Sales Brochure Reprint £3.00
B0326 The gearbox fitted to the XPAG - Neil Cairns £8.00
B0355 TC's Forever by Mike Sherrell £109.00
B0362 Living with the XPAG engine - Neil Cairns £18.75
B0364 Living with the MG Y Series - Neil Cairns £13.00
B0402 MG Saloons & Coupes 1925-1980 Photo Archive Richard L. Knudson £16.00
B0763 75 Years of the J2 M.G. (Hardback) Michael Barry Hawke £20.00
B0765 Practical MG TD Maintenance, Update & Innovation by J Goddard £9.00
B0766 Barrie's Notes - Maintaining a 1955 MG TF in the 21st Century £9.00
B0920 MG Sports Cars 1929-1936 by Malcolm Green £24.00
B0921 TC's Forever-More! by Mike Sherrell £99.00

REGALIA
R0002 MG Octagon Car Club Car Badge £16.32
R0010 Lapel Badge Club £2.00
R0011 Lapel Badge Safety Fast £1.50
R0023 Bulletin Magazine Binder Not Available
R0046 Poster - MG's through the ages £1.20
R0099 Octagon Car Club MG 100th Anniversary Round window sticker £0.50

1 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

AXLES

Front and rear leaf springs for most models 
please ring the spares office for a quote

SAX001 Front axle wedge / taper plate TC £18.00
SAX002A Bearing spacer tube for front hub TA/TB/TC £23.40
SAX002B Spacer, oil seal - TA/TB/TC £12.48
SAX003 Front hub TA/TB/TC/MMM   Including Studs  L/H £108.00
SAX003A Front hub TA/TB/TC/MMM   Including Studs  R/H £108.00
SAX004A Spacer - oil seal-front hub -TD/TF/YB £13.80
SAX004B Spacer, bearing, front [2 needed per car] TD/TF £13.15
SAX005 Rear hub  MMM  L/H £78.26
SAX005A Rear hub MMM  R/H £78.26
SAX006 Rear hub  TA/TB/TC L/H £126.00
SAX006A Rear hub TA/TB/TC R/H £126.00
SAX006B Gasket, hub to rear flange TA/TB/TC/MMM £1.92
SAX006C Rear hub  and  Half Shaft Pressed together TA/TB/TC  Left/Hand £218.40
SAX006D Rear hub  and  Half Shaft Pressed together TA/TB/TC  Right/Hand £218.40
SAX007A Collar, rear oil seal - TD/TF/YB £31.00
SAX009 Spinner (MG crested) 12 TPI L/H £44.16
SAX009A Spinner (MG crested) 12 TPI R/H £44.16
SAX011 Half shaft TA/TB/TC £104.40
SAX011B Half shaft TD/TF/YB uses SAE 14 TPI nut [SAX121] £270.00
SAX011C Washer, half shaft nut TD/TF £6.72
SAX012 Oil thrower for half shaft LH [anticlock spiral] £25.20
SAX012A Oil thrower for half shaft RH [clockwise spiral] £25.20
SAX013A Front hub TD/TF (wire wheels) Including Studs RH £118.80
SAX013B Front hub TD/TF (wire wheels) Including Studs LH £118.80
SAX013C Rear hub TD/TF (wire wheels)  Including Studs RH £118.80
SAX013D Rear hub TD/TF (wire wheels)  Including Studs LH £118.80
SAX013F Lock Tab Brake Drum TD/TF [Wire Wheels] £2.64
SAX013G Stud for Hub TD/TF Hub (wire wheels) £2.04
SAX013H Nut for Stud TD/TF Hub (wire wheels) £0.42
SAX014 Track Rod End & Drag Link End Set of 4 Joints MG TA/TB/TC/MMM £234.00
SAX014B Ball and pin only for track rod end (Tapered) TA/B/C £27.60
SAX017A Steering rack gaiter-largeclip £2.40
SAX017B Steering rack gaiter-smallclip £1.62
SAX017C Steering rack gaiter complete pair inc clips £13.34
SAX017D Steering rack gaiter pair modern replacement rack £12.60
SAX018 Tie Rod MMM/TA/B/C £70.00
SAX018A Tie Rod/Drag Link Lock Nut R/H Thread MMM/TA/TB/TC £12.72
SAX018B Tie Rod/Drag Link Lock Nut L/H Thread MMM/TA/TB/TC £12.72
SAX018C Drag link TA/TB/TC £76.80
SAX019B Lock Tab Steering arm - 2 holes - TA TB TC £11.99
SAX020 Trackrod end TD/TF/Y £14.90
SAX020A Cover - track rod end - TD/TF/Y £3.44
SAX020B Track Rod End Lock Nut TD/TF/Y £3.84
SAX020C Spring Clip for Cover Track rod end - TD/TF/Y £2.40
SAX021 Kingpin Set MMM (M, D, F, J, L, P) £102.00
SAX022A Retainer for felt washer, kingpin TA/TB/TC £13.20

SAX022B
Bolt for felt washer and cap, top of kingpin TA/TB/TC  *******USE 

SBY339******

SAX022C King pin/ bush/thrust washer Set TA[from chassis 1500]/TB/TC         [Both sides] £168.00

SAX022D Cotter pin & nut  for king pin [original pattern with steering stop] TA/TB/TC £12.48

SAX022E Plain King pin bush [4 needed per car]  - TA from  1501/TB/TC £21.72
SAX022F Felt washer, top of kingpin TA/TB/TC £2.52

2 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

SAX022G King Pin only  TA[from chassis 1500]/TB/TC £42.00
SAX022H Thrust Washer King Pin Late TA   TB/TC £13.80
SAX024 King pin set SA £110.00
SAX027 Front coil spring  - PAIR -TD/TF £97.20
SAX027A Coil Spring  YA/YB/YT £84.00
SAX031A Angle pad for spring clip rear spring [8 needed needed per car] TD/TF/Y £4.92
SAX031B Spring Interleaf pad [24 needed needed per car] TD/TF/Y £3.90
SAX031BSET Spring interleaf pad set of 24  Nylatron £54.00
SAX031C Poly Angle pad set of 8 for spring clip rear spring TD/F/Y £34.20
SAX034 Phosphor Bronze Spring  Trunnion Bushes 1/4"  [SET OF 4] £52.80
SAX034REPAIR Rear trunnion repair tube [pair LH & RH] TA/TB/MMM [Except K & N] Out of Stock
SAX035 Front hub stud TA/B/C £5.00
SAX035A Hub stud nut (axle set of 12) - TA/TB/TC £8.64
SAX035C Hub stud lock washer [Axle Set of 12]  TA/TB/TC £5.04
SAX035D Rear Bearing Carrier Studs TA/TB/TC/F/J/N/P £9.00
SAX036 Hub stud early TD BSF £9.60
SAX036A Hub stud late TD & TF [1/2inchUNF] £9.60

SAX036B
Replacement matching wheel stud & nut YA/YT [UNF THREAD]

Replaces original BSF stud which is no longer available
NOT AVAILABLE

SAX036D Hub seal felt - TD to chassis 6034 / YA/YT £7.86
SAX037 Spring eye  metalastic bush TA/TB/TC £9.00
SAX038 Spring eye  metalastic bush rear spring [2  needed needed per car] TD/TF/Y £3.60
SAX038A Fibre Washer  for Rear Spring  bush TD/TF/Y £0.66
SAX041 Wheel nuts 1/2BSF early TD" £5.76
SAX042 Wheel nut 1/2"UNF [5 per wheel] fromTD12285/TF/YB £4.26
SAX043 Wheel nut 3/8" BSF YA/YT £4.38
SAX044 Front spring anchor pin TA/TB/TC £23.16

SAX044A
Grease nipple for SAX044 & TA/B/C rear Hub & Steering box                TD/TF 

Steering Rack                                                                                                         
£1.08

SAX044B Tab washer for SAX044 front spring bolt TA/TB/TC [2 needed needed per car] £1.20
SAX045 Front beam to axle bolt, screw & nut [8 needed needed per car] TC £10.20
SAX045B Nut for Shackle pin & Spring Bolt  7/16" BSF USE SBY303
SAX045C Spring washer Shackle pin & spring bolt 7/16" USE SBY314
SAX045D Front spring buffer pad plate [for top of SAX045 bolts] TA/TB/TC [2 needed £28.20
SAX046 Rear upper shackle pin TC £6.50
SAX050 Shackle pin with washers & nuts rear TD/TF/Y, front TC £9.60
SAX050A Bolt and nut for front of rear spring   TD/TF/YA/YB £3.72
SAX050B Shackle plate rear spring [4 needed needed per car] TD/TF £14.86
SAX050C Shackle plate rear of front spring (4 needed per car) TB/TC £17.40
SAX051 Wire wheel brush £4.00
SAX053 Hub cap -chrome  with medallion TD/TF/YB £35.70
SAX053A Hub cap medallion - TD/TF/YB £9.42
SAX053B Hub Cap with hole without medallion £26.40
SAX056 Hub retaining Nut 5/8"BSF  RH thread TA/TB/TC/YA/YT/early TD £8.10
SAX056A Washer, stub axle nut - TA/TB/TC £7.32
SAX057 Hub retaining Nut 5/8"BSF  LH thread TA/TB/TC/YA/YT/early TD £6.90
SAX057A Hub nut washer 5/8" early TD £3.60
SAX058 Hub retaining Hex.Nut 3/4 inch UNF late TD+TF  LH Thread £6.40
SAX058A Hub nut washer 3/4" late TD/TF £5.57
SAX059 Hub retaining Hex.Nut 3/4 inch UNF late TD+TF  RH Thread £2.46
SAX059A Hub dust cap - late TD/TF/YB £8.84
SAX061 Top plate with studs-rear spring TA/TB/TC £32.45
SAX061A Rear axle to spring bolt and nut set TA/TB/TC [1 needed needed per car] £57.60
SAX061C Front shock to spring mounting bracket L&R (Pair)TA/B/C NOT AVAILABLE

SAX061D Stud for front shock mounting plate TA/B/C £13.31
SAX061E Rear shock to spring mounting bracket L&R (Pair)TA/B/C NOT AVAILABLE

SAX061F Spring bolt reinforcing plate front and rear TA/TB/TC £9.00
SAX062 Propshaft - TD/TF £170.00
SAX062A Diff flange TD/TF £84.76

3 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

SAX064 Bush rear spring shackle upper & lower TD/TF/YA/YB upper TC Front Shackle TC £0.92

SAX064B Rear spring lower large shackle bush  -TC £7.68

SAX064C
Uprated Polybush [set of 4] rear spring shackle upper & lower TD/TF/Y  Upper 

Front Shackle TC - [TD/TF/Y] needs 2 sets - TC needs one set]
£23.70

SAX064D
Uprated Polybush Polybush [Set 4]Front Lower and Rear Upper Shackle TC 

[Correct Lenth Includes Silicone Grease]
£18.60

SAX064E Polybush Rear Lower Large Shackle Pin TC [Set of 4] £25.92
SAX067A Gasket differential to axle casing  TA/TB/TC £6.24
SAX067B Modified Differential Pinion Cap with oil seal TA/B/C £55.20
SAX067C Gasket differential to axle casing YA/YT £10.32
SAX067D Gasket differential to axle casing TD/TF/YB £4.20
SAX067E Castle Nut for Pinion Flange TA/TB/TC/YA/YT £18.00
SAX068 Replacement Seal for Modified Differential Pinion Cap SAX067B £4.00
SAX071 Front bump stop - TC £11.64
SAX071A Front bump stop - TA/TB £40.14
SAX071B Screw set [8] for front bump stop plates - TA/TB/TC £2.82
SAX072 Front bump stop - TD/TF/Y £9.54
SAX072A Spacer plate for front bump stop  TD/TF/YA/YB £4.08
SAX073 Rear bump stop - TD/TF £17.40
SAX073A Rear bump stop YA/YB/YT [2 needed needed per car] £22.50
SAX074 Check  strap TD/TF £40.64
SAX074A Check Strap - TA/TB/TC £25.00
SAX078 Tab washer - Rear Hub TA/TB/TC/YA/YT £1.00
SAX079 Uprated Wishbone Bush [4 needed needed per car] MGB V8 type - TD/TF/Y's £1.56
SAX079A Uprated Wishbone Bush Set Polyurethane [8 bushes with tubes]- TD/TF/Y's £30.00
SAX080 Wishbone Bush [8 needed per car] - TD/TF/Y's £0.96
SAX080A Wishbone pivot - TD/TF/Y's £28.80
SAX080B Wishbone arm TD/TF £10.00
SAX080D Bolt & nut front suspension bottom link [1 Side] TD/TF/Y's £5.40
SAX080E Bolt & nut front suspension top link [1 Side] TD/TF/Y's £5.40
SAX080F Steel tube for suspension link [4 needed per car] TD/TF/Y's £3.22
SAX080G Wishbone arm pivot washer [4 needed per car] TD/TF/Y's £0.66
SAX080H Girling damper bolt short [4 needed per car] TD £3.36
SAX080J Girling damper bolt long [4 needed per car] TD £5.81
SAX080K Nut wishbone pivot TD/TF/Y's (1/2" UNF) for replacement pivot only £1.64
SAX080KBSF Nut original wishbone pivot TD/TF/Y's (1/2" BSF) & Swivel Link £4.20
SAX080L Bolt & Nut Set, Spring pans to arms TD/TF/Y £6.00
SAX080M Bolt and nut wishbone pivot TD/TF/Y £1.68

SAX088A
Pair of Special rear hub lock nuts with oil seals (kit) TA/B/C (Replaces SAX087 & 

SAX088)
£60.00

SAX088B Replacement oil seals for SAX088A £3.78

SAX089
Rubber Saddle pad - rear spring seating [4 needed per car] TD/TF/Y's(correct 

Lenth)
£6.12

SAX089B Polyurethane Pads for Rear spring seat SET OF 4  TD/TF/Y's (correct Lenth) £28.00

SAX090 Shock absorber (Girling)  link bush TA/TB/TC/Early TD/YA £10.08
SAX090A Bolt Front shock absorber(Armstrong) mounting late TD/TF £2.40
SAX090B Shock absorber (Girling)  link arm Rear Early TD £62.40
SAX090C Shock absorber (Girling) Link Arm Front Shock TC £56.52
SAX090D Stud for Girling Shock Absorber Link Mounting TA/B/C/D £37.20
SAX090E Shock absorber (Girling) Link Arm Rear Shock TC £48.00
SAX090F Nut for SAX090D *****USE SAX045B***
SAX090G Shock Mounting Plate Front TA/B/C £13.80
SAX090H Shock absorber mounting bolt TC £2.40
SAX091 Rubber Trunnion Boot Rear -MMM/TA/TB £22.80
SAX092 Half shaft & hub - YA £234.00

4 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

SAX092A Gasket for rear hub - YA/YT £4.32
SAX093 U bolt rear axle  [2 per spring] - TD/TF/YB £6.60
SAX093A Nyloc nut for SAX093 £0.40
SAX093B Plate, rear spring pad  [2 per spring] TD/TF/YA/YB/YT £13.44
SAX093C Buffer plate, 'U' bolt to axle TD/TF/YB £9.72
SAX093D U bolt rear axle  [2 per spring] - YA/YT Inc Nuts £68.40
SAX094 Rear Bump Stop TA/TB/TC £6.04
SAX095 Rubber Trunnion Boot Front - MMM/TA/TB £16.80
SAX096 Front Suspension Swivel link L/H top TD/TF/Y's £162.00
SAX096A Front Suspension Swivel link R/H top TD/TF/Y's £162.00
SAX096B Bush for top & bottom swivel link - TD/TF/Y's £6.84
SAX097 Swivel Pin Rubber Seal [vert. 4 needed per car] TD/TF/Y's £4.20
SAX097A Swivel Pin Rubber Seal [hor. 8 needed per car] TD/TF/Y's £2.38
SAX098 Front Suspension Swivel link L/H bottom TD/TF/Y's £162.00
SAX098A Front Suspension Swivel link R/H bottom TD/TF/Y's £162.00
SAX099 King pin / Swivel Pin L/H - TD/TF/Y's £85.20
SAX099A King pin  / Swivel Pin R/H - TD/TF/Y's £85.20
SAX099B King pin grease nipple T's and Y's £2.02
SAX102 Thrust washer top & bottom link  front suspension TD/TF/Y's £0.50
SAX103 Seal support washer top & bottom link front suspension TD/TF/Y's £0.42
SAX105 Shock absorber Rear without link (New) Armstrong  TD/TF  LH £141.60
SAX105A Shock absorber Rear without link (New) Armstrong  TD/TF  RH £141.60
SAX109 Grease nipple, propshaft £1.32
SAX111 Spring mounting plate, front  TA/TB/TC £17.00
SAX115 Anti roll bar mount bush, chassis [2 needed per car] YB £11.94
SAX115A Bush Panhard Rod Y's  &  Anti Roll bar YB £5.72
SAX116A Tie rod washer for use with SAX115A [4 needed per car]  - YA/YT £5.70
SAX117 Bush for anti roll bar bottom link  [4 needed per car] YB £7.26
SAX119 Front pivot, rear spring mounting [2 needed per car] - TA/TB/TC £114.60
SAX119A Nut for front pivot,  for SAX119 [2 needed per car] - TA/TB/TC £1.10
SAX119B Tab washer 3/16" thick for SAX119 front pivot rear spring TA/TB/TC £8.40
SAX120 Nut, half shaft BSF, 11TPI  to TD12284 £7.80
SAX121 Nut, half shaft SAE, 14TPI  TD from 12285 & TF £10.78
SAX125 Shock absorber (Armstrong)  link arm rear  TD/TF £32.40
SAX126 Lower rear spring shackle pin TC £147.00
SAX126A Castellated nut for Lower rear spring shackle pin TC £6.60
SAX126B Lock spacer washer 3/8" thick for SAX126 Lower rear sring shackle TC £9.70
SAX131 Brass valve release tool, for tyre valve £0.50
SAX136 Bolt, nuts & spacer, centre of leaf spring TD/TF £15.90
SAX138 Drain plug Rear Axle with magnet £14.40
SAX138D Filler Plug Rear Axle TD/TF/YB £4.96
SAX139L Locking Ring front stub axle LH YA/YT £30.00
SAX139R Locking Ring front stub axle RH YA/YT £30.00
SAX145 Front Shock absorber TD/TF Armstrong Reconditioned Exchange POA

5 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

ENGINE EXTERNAL
SBE001 Cam Follower - oversize +20  - XPAG £8.40
SBE001A Cam follower, standard -  XPAG  .905" £7.20

SBE001B
Cam Followers XPAG [Set of 8 Stee] Hardened Nitride Steel         [Standard size 

.905"] Recommended for use with our Fast Road Cams
£140.00

SBE001C Cam follower standard  .905 inch - XPAG [set of 8] £54.00
SBE001M Set of 8 MPJG Nitrided Steel Cam Followers [Standard size]    £190.80
SBE002 Push rod -XPAG £7.80
SBE002A Push rod - MPJG Not Available
SBE003 Camshaft  XPAG [Standard grind] £282.00
SBE003A Camshaft MPJG £390.00

SBE003B
Camshaft XPAG Fast Road                                                                                                                         
Based on the AEG 122 profile with 0.025" increase in cam lift. Twin SUs must be used (It is 

recommended that SBE001B Steel Cam Followers are used with this cam)

£282.00

SBE003C Camshaft to gear bolt  XPAG £4.96
SBE003M Camshaft to gear bolt  MPJG £11.40
SBE004 Cam sprocket tab washer XPAG £9.24
SBE004A Camshaft bearing-Front only XPAG £15.48
SBE004B Camshaft Thrust Plate XPAG £20.00
SBE004C Camshaft Gear Washer £13.08
SBE005 Camshaft bearing  set XPAG £46.68
SBE005A Camshaft core plug  45mm  XPAG £1.20
SBE005B Camshaft rear circlip - XPAG £1.14
SBE006 Cam bearing centre & rear securing bolt £11.88
SBE007 Tappet cover stud set [2 off] - MPJG £2.14
SBE008 Tappet cover stud  - XPAG £2.88
SBE009 Breather pipe - XPAG TC £19.20
SBE010 Side cover nut - XPAG £6.30
SBE010A Side plate gasket - XPAG £7.37
SBE010B Side plate gasket - MPJG £11.46
SBE010C Tappet / side cover sleeve nut - MPJG (Set of 2) £50.76
SBE011 Breather pipe - XPAG TD/TF £19.20
SBE011A Breather pipe upper clamp  XPAG/MPJG £27.60
SBE011B Breather pipe lower clamp  XPAG £17.40
SBE011C Breather Pipe Crankcase MPJG  S/Steel £32.81
SBE011D Lower clamp for breather pipe - MPJG £28.20
SBE012 Oil pump gear set including bush - XPAG £52.90
SBE012A Oil pump driven spindle XPAG £42.00
SBE012B Oil pump/camshaft spindle & gear  XPAG £130.20

Oil Pump Woodruff Key XPAG use SBE102
SBE012C Oil pump drive gear circlip - XPAG £1.52
SBE012D Oil Pump to Block Gasket  - XPAG £3.00
SBE012E Oil pump housing bush SET  - XPAG £92.70
SBE012F Oil feed hole plug, [5 needed per car] XPAG £2.27
SBE012G Oil screen (in sump) gasket, XPAG TD from 15372/TF £1.44
SBE012H Oil gallery end plugs [pair one brass one steel] XPAG £9.30
SBE012J Oil Gallery end plugs MPJG (pair) £12.40
SBE013 Oil Pressure relief valve spring & ball XPAG £4.80
SBE013A Oil Pressure relief valve seating sleeve XPAG £15.72
SBE013B Oil Pressure relief valve cap washer XPAG £8.40
SBE013C Oil Pump Bolt Short-XPAG 65mm (Filter on pump 2)(Remote Filter 4) £4.92
SBE013D Oil Pump Bolt Medium- XPAG 84mm (Filter on Pump 4)(Remote Filter 2) £4.86
SBE013E Oil Pump Bolt Long- XPAG 89mm (2 required) £5.88
SBE013F Oil pump bolts washer set for [8 Washers] XPAG/TA/VA/SA £1.50
SBE013G Oil pump bypass valve Spring early  XPAG £6.19
SBE013H Oil pump ball for bypass and pressure relief valve XPAG £1.62
SBE013J Oil pump ball guide for bypass early XPAG £35.70
SBE013K Oil pump ball seat for bypass early XPAG £27.96

6 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

SBE013L Oil pump Pressure Relief Valve Cap XPAG £8.40
SBE013M Oil Pressure Relief Valve Adjustable  XPAG £94.68
SBE013TA Oil Pressure Relief Valve  Adjustable  MPJG £28.96
SBE014 Oil filter  TB/C/EarlyTD/YA Original appearance with spinoff cartridge £231.55

SBE014A
Oil filter original style (435-385 made by Moss originally painted Blue) 

TB/TC/earlyTD/YA [Uses SBE017 paper filter]
Not Available

SBE014B Washers for oil filter pipes, (set of 6) - TB/TC/early TD £5.04
SBE014C Washers for oil filter pipes [set of 8] - TB/TC/early TD £6.60
SBE014D Washer for oil pipe block to head [4 needed per car] - XPAG £0.90
SBE015 Oil filter conversion with spin off filter-TB/TC/earlyTD/YA £114.00
SBE015A Oil filter conversion with spin off filter-Late TD/TF £50.00
SBE016 Oil filter element      MPJG/ VA & TA £23.57
SBE016A Oil filter element felt    WA & SA £21.54
SBE016B Oil filter  O-Ring seal TPBG/MPJG VA & TA £0.60
SBE017 Oil filter element  [for SBE014A ] TB/TC/early TD/YA £10.20
SBE018 Oil filter element [Filter on oil pump]  Late TD/TF/YB £4.80
SBE018A Spin off Oil Filter for SBE015 & SBE015A [3/4" x 16 Thread] £3.66
SBE018B Spin off Oil Filter for SBE015 & SBE015A [M18 X 1.5 Thread] £3.36
SBE018C 1/2" sealing washer filter bowl bolt Late TD/TF £2.08
SBE019 Banjo bolt-round head XPAG £7.92

SBE019A Oil pipe block to head  XPAG 9408 onwards [with oil pressure take off on banjo] £69.50

SBE019B Oil pipe block to head  XPAG upto 9408  [uses banjo bolt SBE022B] £69.50

SBE019C
Flexible S/S Braided Block to Head Oil Pipe with washers                   [needs banjo 

bolt SBE022B on later engines]
£31.08

SBE019TA
Oil pipe block to head MPJG including unions                                                     (to fit 

original unions in block)
£31.20

SBE020 Oil gauge hose  MPJG/XPAG [original rubber with protection coil] £27.60
SBE020A Oil Gauge Hose S/S Braided covering  MPJG/XPAG £23.40
SBE021D Banjo Bolt, oil filter pipes to block and pump early XPAG £17.70
SBE022 Copper oil pipe bulkhead to gauge  XPAG/MPJG £20.69
SBE022A Bulkhead fitting for oil gauge pipe & hose £21.00
SBE022B 1/8 inch bsp banjo bolt with oil pressure gauge take off £9.66
SBE022C 1/8 inch bsp copper washer £0.82
SBE022D Oil pipe, flexible [29 inch] for oil gauge YA/YB/YT £12.96
SBE022E Hose clip for SBE022D [2 needed per car] £3.58
SBE022F Copper oil pipe set [13 " to engine, 24 " to gauge] YA/YB/YT £25.80
SBE022G Leather washer oil pipe to gauge £0.36
SBE023 Dipstick XPAG large 10.5 pint capacity sump Late TD/TF/Late YB £34.50
SBE023A Dipstick XPAG small 9 pint capacity sump TB/TC/Early TD/YA £56.40
SBE025 Oil pipe banjo bolt hex. head  XPAG £8.10
SBE026A Core plug 39mm MPJG (Steel) £0.90
SBE027 Core plug small  XPAG  35mm £1.80
SBE028 Core plug large  XPAG  48mm £1.92
SBE029 Core plug set  (including camshaft core plug)  XPAG £9.78
SBE029B Core plug set Brass  (Water Galleries only set of 8)  XPAG £15.00
SBE030 Inlet/exhaust manifold stud  [8 needed per car] MPJG/VA £2.58
SBE030A Inlet/exhaust manifold steel nut set - MPJG/VA £9.00
SBE030B Inlet/exhaust manifold TC/YA/early TD £5.04
SBE030C Inlet/exhaust manifold gasket TD/TF/YB £5.04
SBE030D MPJGInlet/exhaust manifold gasket £12.00
SBE030DCOP MPJG In/exh manifold gasket solid copper (NEEDS ANNEALING) £30.00
SBE030E Inlet/exhaust block to manifold long brass blind nut MPJG/VA £2.82
SBE030F Inlet/exhaust manifold gasket SA £13.80
SBE030G Inlet/exhaust manifold gasket VA £12.00
SBE031 Inlet manifold stud set [4] - XPAG £8.40
SBE031A Inlet/exhaust manifold stud set  MPJG/VA [ Set of 8] £22.80

7 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

SBE033 Inlet manifold nut [set of 4] M8x1 steel  XPAG & MPJG £5.40
SBE034 Inlet manifold clamp [4 needed per car]  XPAG [Twin Carb] £13.61
SBE036 Exhaust flange stud [3 needed per car] TA/TB/TC/YA £3.60
SBE036A Exhaust flange stud [3 needed per car] TD/TF £3.60
SBE037 Exhaust flange nut brass [3 needed per car] BSF spanner size £1.42
SBE037A Exhaust flange nut all T & Y [3 needed per car] STEEL £1.42
SBE038 Exhaust flange gasket £6.00
SBE039 Engine stabiliser/steady bar complete TD/TF/YA/YB £33.60
SBE039A Engine stabiliser bar rubber bush set of 4 £5.10
SBE039B Engine stabiliser bar washer set of 4 £3.90
SBE039C Engine stabilizer bar Bracket to water pump £18.90
SBE040 Water pump  - XPAG £48.00
SBE040B Water pump gasket TB/TC/TD/TF/Y £0.50
SBE040H Water pump (6 blade impeller) XPAG £60.00
SBE040M Water pump MPJG  (RECONDITIONED EXCHANGE **OLD UNIT REQUIRED IN Not  available
SBE041 Water pump nut set for studs - MPJG £3.90
SBE041B Water pump backplate gasket MPJG £3.42
SBE041C Water Pump Stud Set MPJG £6.60
SBE042 Water pump stud [2  needed per car] - XPAG £2.40
SBE042A Water pump bolt  [2 needed per car] XPAG **[USE SBE310]**
SBE042B Water outlet bolt long, TF £0.80
SBE044 Water Pump Pulley MPJG (Aluminium) £60.00
SBE045 Water pump pulley - XPAG £68.70
SBE046SS Water branch pipe  - TA stainless steel £120.56
SBE047 Y water branch pipe  - TB/TC/VA £52.80
SBE048 Y water branch pipe  - TD/YA/YB £52.80
SBE048A Y water branch pipe  - TF £65.00
SBE049 Water outlet  - TB/TC £101.40
SBE050 Water outlet  - TD £101.40
SBE050A Water outlet  elbow to top hose TF £50.00
SBE052 Thermostat & housing   [bellows & blanking plate type] MPJG/XPAG/VA/SA £91.80
SBE052A Thermostat gasket - T's & Y's VA/SA £0.38
SBE052B Thermostat TF £5.04
SBE052C Radiator Cap Standard 4 psi TF £4.20
SBE052D Radiator Cap Uprated 7 psi TF £4.20
SBE053 Stud (pack of 2) Thermostat housing & G/box top cover XPAG/MPJG/VA/SA £3.48
SBE055 Thermostat housing nut set - MPJG & XPAG £2.52
SBE056 Water inlet elbow stud set  TA £5.58
SBE057 Water inlet elbow nut set - TA £4.61
SBE058 Fan blade fixing bolt TB/TC (without spacer) [4 needed per car] £3.60
SBE058B Fan blade  to pump spacer XPAG £37.20
SBE058C Fan blades (pair) £38.40
SBE058D Fan Assembly 7 blade (Plastic) £42.00
SBE059 Fan blade fixing bolt TD/TF/YA/YB £4.00
SBE060 Fan belt   44"  TA £9.00
SBE061 Fan belt 36"  XPAG £8.00
SBE061A Fan belt 37"  XPAG £8.00
SBE065 Engine mounting bolt - TA/TB/TC £20.88
SBE066 Engine mounting  sleeve nut  - TA/TB/TC £10.80
SBE066A Engine Mount Rebound rubber - TA/TB/TC/WA £14.40
SBE066B Engine mounting sleeve nut lock nut- TA/TB/TC £0.18
SBE066C Engine mounting washer upper  TA/TB/TC £7.80
SBE066D Engine mounting rebound rubber washer TA/TB/TC/WA £1.56
SBE066E Front engine mount to chassis bracket TA/TB/TC £42.00
SBE067 Engine mounting  - TA/TB/TC £18.70
SBE068 Engine mounting TD/TF/YA/YB (Not  with 5 speed Conversion) £20.00
SBE069 Timing chain   XPAG £12.00
SBE069A Timing chain  MPJG £13.20
SBE070 Timing chain tensioner  XPAG £33.84

8 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

SBE070A Timing chain tensioner spring only  XPAG £4.20
SBE070B Timing Chain Tensioner / Oil pickup to Sump Bolts (Set of 2) XPAG £8.40
SBE071 Timing chain cover bolt set TA/VA £22.62
SBE072 Timing chain cover bolt & washer set - XPAG £18.00
SBE073 Timing Cover Gasket XPAG £1.20
SBE073A Timing Cover Gasket MPJG/VA £8.88
SBE074 Crankshaft pulley  - MPJG £72.00
SBE074A Crankshaft Spacer MPJG £22.80
SBE074V Crankshaft pulley VA £80.40
SBE075 Crankshaft pulley  - XPAG £48.00
SBE076 Crankshaft timing chain sprocket  - XPAG £31.20
SBE076A Crankshaft timing chain sprocket - MPJG £140.00
SBE076B Cam gear timing chain sprocket - XPAG £48.40
SBE076C Cam gear timing chain sprocket - MPJG £252.00
SBE078 Starting handle  TA/TB/TC £84.00
SBE078A Starting handle  TD/TF/Y's £84.00
SBE079 Starting handle dog/pulley bolt, XPAG [also MPJG] £24.60
SBE079A Washer for  Crankshaft pulley/starter dog £9.12
SBE080A Crank front oil thrower XPAG £9.12
SBE080V Crankshaft oil seal front XPAG Viton £6.00
SBE081 Oil Thrower for rear main bearing £28.56
SBE081A Gasket for Oil Thrower rear main bearing £1.80
SBE081B Set of bolts & washers  for SBE081 oil thrower £2.80
SBE083 Sump plug   XPAG £7.07
SBE083A Sump plug washer - XPAG £1.38
SBE083B Sump plug with magnet XPAG £17.40
SBE083C Sump plug washer - MPJG use SGC031
SBE083D Sump plug  - MPJG use SGC030
SBE083E Sump plug MPJG and Gear box drain plug  with magnet £18.66
SBE084 Sump bolt set    MPJG £48.00
SBE085 Sump bolt & Washer set [correct style]   XPAG £37.20
SBE085A Sump baffle plate  TB/TC £24.00
SBE086 Starter/flywheel housing bolt set MPJG £6.30
SBE087 Flywheel bolt set MPJG/XPAG £27.00
SBE088 Flywheel housing bolt set MPJG £19.20
SBE088A Bell housing bolt & washer set - XPAG £14.16
SBE090 Air Cleaner with modern paper element TB/TC Not Available
SBE090A Air Cleaner Mounting Bracket set (2 brackets) TB/TC £35.94
SBE090B Air Cleaner Decal (5000 miles)  TB/TC £5.15
SBE091 Air Cleaner Manifold TA £115.61
SBE091A Air Filters Pair for TF [Original Vokes Type] £180.00
SBE091B Air filter to Carb Bolt 5/16"BSF x 3/4" [Not same as original] TF £0.88
SBE091C Air Filter to Rocker Cover Breather Pipe (Steel)  TF £22.20
SBE094 Inlet/exhaust manifold nut set-brass original size  TA/VA £18.00
SBE095 Inlet/exhaust manifolds short brass nut set - TA/VA £10.80
SBE096 Bypass Elbow, Thermostat housing TA/TB/TC/TD/Y £41.00
SBE096A Gasket for thermostat elbow -  TA/TB/TC/TD/Y's/VA £1.00
SBE096B Thermostat bypass elbow Screw & washer set of 2  XPAG MPJG £1.10
SBE098 Radiator TB/TC/TD [NEW] £635.00
SBE099 Oil thrower - Camshaft  XPAG £6.84
SBE101 Side plate cover - cast aluminium XPAG £101.94
SBE101C Washer, Side plate cover - [3 needed per car] XPAG £0.36

SBE102
Woodruff key XPAG crank,cam shafts,oil pump, 5/8" clutch shaft,        LHD pedal 

shaft TD/TF
£0.48

SBE102A Woodruff Key MPJG & VA Crank/ Timing Pulley £0.92
SBE103 Timing cover bolt short XPAG [2 per cover]***USE SBE 309**
SBE104 Timing cover bolt - medium XPAG [3 per cover] £6.48
SBE105 Timing cover bolt - long - XPAG [2 per cover] £6.40
SBE107 Water drain tap, engine £25.32

9 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

SBE108 3/8" Fibre washer for engine water drain tap £0.48
SBE116 Radiator drain tap  TA/TB/TC/TD/TF £23.40
SBE116A Adaptor union radiator temperature gauge pipe male/female £13.49
SBE116B Adaptor union radiator temperature gauge pipe male/male £13.14
SBE116C Radiator header tank blanking plug *****USE SSU030****
SBE117 1/2" Fibre washer for radiator drain tap £0.72
SBE118 Gasket Oil Pump to Block MPJG/VA/SA £3.30
SBE119A Oil Pressure Gauge Block Adaptor MPJG £4.00
SBE120 M8 x 1 Steel nut  [1/4" whit spanner size] £1.34
SBE121 Distributor Clamp lock bolt [early XPAG] £6.60
SBE121A Distributor lock Cotter bolt [late XPAG] £24.00
SBE122 Distributor Drive Gear XPAG £69.00
SBE122A Pin for Distributor Drive Gear XPAG £0.79
SBE122B Copper Washer for Distributor Drive Gear XPAG £1.26
SBE122C Distributor drive shaft Bush [Dist. no. 40367D/H & 40368D/H] 1 piece £25.20
SBE122D Distributor shaft Bush set [Dist. no. 40048 & 40162] 2 piece £27.96
SBE123 Stud Set Inlet Manifold / Carburetter MPJG £4.00
SBE123A Nut Set [4] Inlet Manifold to Carburetter MPJG £5.60
SBE124 Starter Motor Bolt & Washer Allen Head £1.20
SBE125 Front timing cover modern lip oil seal conversion set MPJG/VA £43.80
SBE125A Replacement lip seal for SBE125 MPJG seal conversion £6.00
SBE126 Engine Restraint straps TA (pair) £72.00
SBE127 Oil Filter to Block Bolt set MPJG £4.80
SBE128 Oil Pipe to Pump Bolt set MPJG & Early XPAG £3.60
SBE130 Engine Octagonal ID Tag XPAG blank £9.00
SBE130A BRASS BUTTON, ID tag, (TC style) £5.40
SBE130E Rivet for engine ID tag £0.76
SBE300 Stag Wellseal Jointing Compound 100ml Tube £14.87
SBE309 M8 x 1mm Bolt 3/4" long £0.72
SBE310 M8 x 1mm Bolt 1" long [1/4"Whitworth Head] £0.91
SBE320 M8 plain Washer [Pack of 5] £0.32
SBE321 M8 Spring Washer [Pack of 5] £0.32
SBE323 M10 Spring Washer [Pack of 5] £0.49

10 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

ENGINE INTERNAL
SBI004 Piston & Rings set  STD  XPAG £192.00
SBI004A Piston & Rings set  (66.5mm)  +20  XPAG £192.00
SBI004B Piston & Rings set  (66.5mm) + 30 XPAG £192.00
SBI004C Piston & Rings set  (66.5mm)  +40  XPAG £192.00
SBI004D Piston & Rings set  (66.5mm)   + 60 XPAG £192.00
SBI004E Piston & Rings set  66.5mm +100  (69mm) (1350cc) £246.00
SBI004F Piston & Rings set 69mm + 20 [+120 over std size] XPAG £246.00
SBI004G Piston set & Rings 69mm + 40 [+140  over std size] XPAG £246.00
SBI005D Piston set  & Rings  1500 XPEG +20 £228.00
SBI011 Con rod bearing set  STD XPAG £35.00
SBI011A Con rod bearing set  +10  XPAG £35.00
SBI011B Con rod bearing set  +20  XPAG £35.00
SBI011C Con rod bearing set  +30  XPAG £35.00
SBI011D Con rod bearing set +40  XPAG £35.00
SBI011E Con rod bearing set  +50  XPAG £35.00
SBI011F Con rod bearing set  +60  XPAG £35.00
SBI012A Con rod bolt - MPJG £13.80
SBI012B Con rod nut - MPJG £3.48
SBI013 Con rod bolt/nut [set of 8] - XPAG £120.00
SBI014 Main bearing set  STD      XPAG £60.00
SBI014A Main bearing set  +10  XPAG £60.00
SBI014B Main bearing set  +20  XPAG £60.00
SBI014C Main bearing set  +30  XPAG £60.00
SBI014D Main bearing set  +40  XPAG £60.00
SBI014E Main bearing set  + 50   XPAG £60.00
SBI014F Main bearing set  + 60   XPAG £60.00
SBI015 Bottom end gasket set   MPJG £59.40
SBI016 Bottom end gasket set   XPAG £18.00
SBI016A Gasket oil pickup pipe to sump - 4 bolt flange late XPAG £1.68

SBI016B
Gasket oil pickup pipe to sump - 2 bolt flange early XPAG & MPJG                          

oil pump to filter MPJG and Early XPAG & MPJG                                              
£2.10

SBI017 Sump gasket set - XPAG £12.00
SBI018 Sump gasket - MPJG £15.60
SBI020 Con rod bolt M/J/D/F £2.57
SBI021 Con rod nut M/J/D/F £1.01
SBI022 Con rod bolt P/K/L £4.39
SBI024 Piston ring set 66.5mm-std  XPAG £66.00
SBI024A Piston ring set 66.5mm + 20  XPAG £66.00
SBI024B Piston ring set 66.5mm + 30 XPAG £66.00
SBI024C Piston ring set 66.5mm + 40 XPAG £66.00
SBI024D Piston ring set 66.5mm + 60  XPAG £66.00
SBI024E Piston ring set   1500  XPEG £72.00
SBI024F Piston ring set 66.5mm + 140 [69mm + 40]  XPAG £72.00
SBI024G Piston ring set 66.5mm + 100 [69mm]  XPAG £72.00
SBI024H Piston ring set 66.5mm + 120 [69mm + 20]  XPAG £72.00
SBI026 Starter ring gear ID 10 1/4 inch  93 teeth TB,TC (7 1/4" clutch) £40.80
SBI027 Starter ring gear ID 10 3/8 inch  - 120 teeth - YA, earlyTD (7 1/4" clutch) £40.80
SBI028 Starter ring gear ID 10 3/4  120 teeth  lateTD/TF/YB (8" Clutch) £38.40
SBI029 Small end bolt  set of 4- XPAG Original Type £20.99
SBI029A Small end bolt  set of 4- XPAG [Allen Head] with washers £6.00
SBI032 Crankshaft journal main cap stud set [6]  XPAG £38.40
SBI033 Crankshaft journal main cap "Stover type" lock nut [6 per car] XPAG £3.60
SBI035 Crankshaft journal stud set [6] - MPJG £18.60
SBI037 Conrod  set of 4  XPAG NEW [original pinch bolt type] £350.00

11 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

BRAKES
SBR001 Brake Seal Kit - front TA/TB/TC - rear YA £8.40
SBR002 Front Cylinder pistonTA/TB/TC/rear YA [S/Steel] £19.12
SBR003 Front Brake Cylinder complete TC     Rear YA/YT steel £51.60
SBR003A Front Brake Cylinder complete , bronze Front TC , Rear YA/YT £181.20
SBR003B Bolt and washer (set of 2)  front brake cylinder TC £0.72
SBR004 Front brake Cylinder complete , bronze - TA /TB £192.00
SBR005 Front bleed nipple 7/16" - TA/B/C £1.92
SBR005A Adaptor, Hose to front wheel cyl.  - TA/TB £21.00
SBR005B Adaptor, hose to chassis, front - TA/TB £19.50
SBR007 Front cylinder cup TD/TF/YB £1.80
SBR007A Repair Kit Front cylinders (set of 4) inc springs & nylon washers TD/TF/YB £27.00
SBR009A Front brake cylinder complete TD/TF/YB £22.87
SBR009B Front wheel cylinder repair kit for SBR009 [Bronze]TD/TF/YB £9.00
SBR009C Brake Union Banjo Adaptor TD/TF £22.92
SBR010 Bleed nipple  front & rear TD/TF/YB £2.64
SBR011 Front brake kit YA/YT £5.94
SBR012 Front Wheel Cylinder piston YA [Steel] £2.50
SBR013 Front brake cylinder complete YA - bronze £181.20
SBR014 Front brake kit VA £7.80
SBR014B Front Brake Cylinder VA £144.00
SBR016 Rear brake seal kit 7/8" TA/TB/TC £6.00
SBR017 Rear Cylinder piston TA/TB/TC £11.98
SBR018 Rear Cylinder complete steel TA/TB/TC £56.20
SBR018A Rear Cylinder complete bronze TA/TB/TC £162.00
SBR018B Bolt and washer set, rear cylinder, steel, TA/TB/TC £0.72
SBR020 Rear Cylinder bleed nipple TA/TB/TC/YA/YT 5/16" UNF £3.00
SBR022 Rear cylinder kit TD/TF/YB including boot £10.16
SBR022A Rear cylinder handbrake lever boot TD/TF/YB £2.50
SBR023A Rear cylinder  TD/TF/YB (Does not include boot) £17.40
SBR024 Rear brake cyl. cup (1 1/4") VA £4.32
SBR024A Rear brake cylinder bronze - VA £181.20
SBR025 Brake Linings axle set M/F/D/J £16.80
SBR026 Brake Linings axle set PA/PB/L/M 12 inch drum £42.00
SBR027 Brake Linings axle set VA with rivets £42.00
SBR029 Brake Linings axle set TA/TB/TC/YA with rivets £52.50
SBR030 Brake Linings axle set TD/TF/YB with rivets £54.00
SBR031A Brake pipe set VA Kunifer £108.00
SBR033 Brake pipe set TA/TB  (copper) £118.80
SBR033B Brake pipe set TC copper £118.80
SBR034A Brake pipe set YA Kunifer £108.00
SBR035B Brake pipe set YB (Kunifer) £108.00
SBR036A Brake pipe set TD/TF £108.00
SBR036B Clip, chassis to brake & fuel  pipe TD/TF £5.88
SBR036C Brake pipe between front cylinders TD/TF/YB £13.08
SBR036D Brake pipe master cylinder to 4 way connector TD/TF RHD £18.00
SBR041 Brake banjo rear TD/TF [and TD/TF 1 rear front cyl.] £12.00
SBR041A Brake banjo  rear   TA/TB/TC/YA/YT [correct offset] £16.20
SBR041B Brake banjo- rear brake cyl  YB £17.78
SBR041C 2 copper washers for banjo  r/brakes TA/TB/TC/YA/YT & M/cyl TC £1.08
SBR042 Brake banjo bolt Rear Brakes TA/TB/TC  &  Master Cylinder TC £7.80
SBR042A Banjo bolt master cylinder TA/TB £24.11
SBR043 2 Way connector mastercyl TC £69.60
SBR043A 2 Way connector master Cylinder TA/TB (modern replacement) £37.80
SBR044 3 Way connector brake pipes [7/16" UNF] TA/TB/TC £72.00
SBR045 LH Banjo, 3 way front wheel cylinder [Used] TD/TF £48.00
SBR045A RH Banjo, 3 way front front cyl, [Used] TD/TF £48.00
SBR046 Brake hose nut- TC/TD/TF/YA/YT/YB £1.50
SBR047 Brake hose lock washer-TA/TB/TC/TD/TF/Y Types/SA/VA £0.54

12 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

SBR049 Front brake hose  SA / Rear VA £18.00
SBR050 Front/Rear brake hose 32cm long TA/TB/ Front VA £18.60
SBR050B Front brake hose 34.5cm overall TA/TB £18.60
SBR050C Brake hose front TA for use with SBR003 TC  Cylinders on TA/TB £21.79
SBR050G Stainless Braided Brake Hoses SET of 3 TA £96.00
SBR051 Front brake hose [37.1cm long] TC £15.00
SBR052G Stainless Braided Brake  Hoses SET of 3 TC £90.00
SBR053 Rear brake hose TC [32.1cm long]  Rear YA/YT £15.00
SBR054 Front/rear brake hose 37.5cm TD/TF/YB £15.00
SBR054G Stainless Braided Brake  Hoses SET of 3 TD/TF/YB £90.00
SBR056 Rear brake hose SA 18.1/2 OL" £21.60
SBR058 Rear brake hose YA/YT/WA £22.80
SBR059 ********USE SBS045*********
SBR060 Master cylinder rubber kit VA/SA £13.80
SBR061 Master cylinder rubber kit TA/TB/TC £15.60
SBR062 Master cylinder rubber kit YA/YT £18.00
SBR063 Master cylinder rubber kit TD/TF/YB £16.80
SBR063A Master Cylinder Boot  TD/TF/YB £1.20
SBR064A Push rod brake master cyl. with ball joint - TA/TB/TC £58.80
SBR064AMOD Push rod brake m/cylinder improved design TA/TB/TC £60.00
SBR064B Master cylinder pushrod TD/TF £10.80
SBR068 Master cyl extension piece TB/TC £14.76
SBR069 Master cyl extension piece - TC £12.00
SBR069A Nut for master cylinder extension TC £3.96
SBR069B Circlip for master cylinder - TA/TB/TC £12.60
SBR070 Master cylinder lid & seal - TA/B/C £7.08
SBR070A Seal master cylinder lid & seal - TA/B/C £2.38
SBR072A Master Cylinder TA/TB hard anodized aluminium body £450.00
SBR072B Master Cylinder TC hard anodized aluminium body £450.00
SBR072C Master cylinder heat shield TA/TB/TC £85.00
SBR073 Master cylinder completeTD/TF/YA/YB £75.50
SBR073A Master cylinder filler cap TD/TF/YA/YB £17.00
SBR073B Fibre Washer Master Cylinder Filler Cap TD/TF/YB £2.00
SBR073C Master cylinder inspection cover on top of  floorboard T & Y £14.40
SBR074 Master cylinder Pushrod Fork - TD/TF/YB £21.50
SBR074A Clevis Pin master cylinder fork TD/TF & Clutch Rod TA £1.98
SBR074B Adaptor, master cylinder to brake pipe TD/TF/YB £12.24
SBR075 Brake drum screw [PACK OF 2] £2.90
SBR075A Brake drum screw allen key head [PACK OF 2] £3.00
SBR076A Handbrake adjusting nut [2 needed per car] £6.54
SBR076B Handbrake cable adjusting spring [2 needed per car] £2.04
SBR076C Handbrake Pivot Rivet and Washer TD/TF £7.20
SBR076D Handbrake Grip for TD/TF £7.20
SBR076E Handbrake Chrome Sleeve and knob for TA/B/C £103.80
SBR077 Return spring, front - TA/TB/TC/YA £7.50
SBR078 Return spring, rear brake shoes  -  TA/TB/TC/YA/YT £8.52
SBR078A Bee hive spring rear [4 needed per car except early  TD] TD/TF/YB £2.20
SBR079 Return spring - TD/TF/YB front & rear  long spring 6 needed per car £10.80
SBR080 Tension spring - TD/TF/YB rear £8.52
SBR082 Brake copper washer  3/8 inch £0.26
SBR083 Brake copper washer 7/16 inch £0.44
SBR084 Brake copper washer 1/2 inch £0.80
SBR085 Brake copper washer 17/32" - 1/4 BSP £0.64
SBR086 Brake adjuster mask  TD/TF/YB £6.32
SBR087 Brake adjuster microm - TD/TF/YB £14.16
SBR087A Rear Brake Shoe Abutment Block TD/TF £32.50
SBR088 U shaped brake shoe retainer clip £4.13
SBR088A Brake pivot pin & nut for backplate TA/TB/TC £25.80
SBR088B Handbrake cable clamp inner TA/B/C £21.48

13 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

SBR088C Handbrake cable clamp outer TA/B/C £14.10
SBR088D Handbrake cable Grommet Oval TA/B/C £2.82
SBR088E Handbrake cable Grommet Round TA/B/C £1.20
SBR089 Brake pivot spring TA/TB/TC/Y £3.60
SBR090 Handbrake Pawl TA/TB/TC £56.40
SBR090A Handbrake Quadrant TA/TB/TC £117.60
SBR090B Handbrake pawl stepped bolt TA/TB/TC £12.00
SBR091 Handbrake rubber buffer stop -TA/TB/TC £1.64
SBR093 Banjo bolt brake cyl TD/TF/YB F/R, TA/TB master cyl £7.80
SBR094A Dust cover -  bleed nipple £0.40
SBR095 Brake shoes [Axle set of 4] - TA/TB/TC/YA/YT £73.80
SBR097 Brake shoes [Axle set of 4] - TD/TF/YB £39.00
SBR098 Crown Washer 7/8 inch £2.58
SBR098A Crown Spring [replaces spring + washers] 7/8 inch £5.00
SBR099 Crown spring - [replaces spring + washers] 1 inch TC Front £3.60
SBR099B Crown washer 1 inch £1.44
SBR100 Crown washer 1 1/4 inch £1.10
SBR101 Crown washer - 1 1/8 inch £0.96
SBR102 Strap, brake pipe to rear axle £1.92
SBR103 Copper Washer set Banjos TD/TF/YB (12 washers) £3.90
SBR103A Copper Washer set flexy Brake pipes  TD/TF/YB (3 washers) £0.73
SBR104 Handbrake Ratchet TD/TF £109.20
SBR104A Handbrake Pawl  TD/TF £63.60
SBR110 Pair of Alfin style brake drums TA/B/C cast iron drums  with alloy fins £600.00
SBR111 Pair of Cast Brake Drums [Cast] TA/TB/TC £420.00

SBR112
PAIR of Front Brake Drums late TD/TF/YB (1/2" UNF Studs)                                                                   

Can be fitted to early TD's but requires SAX042 1/2" UNF Wheel nuts
£475.00

SBR120 Spring for brake pedal TA/TB/TC/TD/TF/Y £7.72
SBR130 3 way Connector for brake line [2 needed per car] TD/TF/YB £20.39
SBR135 4 way Banjo kit, [replaces 4 way banjo] TD/TF £22.58
SBR137 Brake Drum TD/TF with wire wheels £60.00
SBR137A Plug for brake adjusting hole in drum TD/TF/YB £6.08
SBR138 Brake pipe support bracket rear chassis TA/TB/TC £10.00

SBR139
Hydraulic Brake Light Conversion Kit YA/YT                                                    (fits to 

rear of master cylinder between cylinder and brake pipe)
£63.60

14 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

BEARINGS, SEALS & JACKALL PARTS
SBS001 Front inner hub bearing M/J/P/TABC & gearbox rear mainshft TD\TF\Y £6.00
SBS001A Front inner hub bearing-tapered M/J/P/TA/TB/TC. £14.50
SBS002 Front inner bearing TD/TF/YB £10.50
SBS002A Front inner hub bearing - YA £12.00
SBS003 Front outer hub bearing-T's/Y's £6.50
SBS003A Front outer hub bearing - tapered M/J/P/TA/TB/TC £13.80
SBS004 Rear hub bearing TA/TB/TC/YA/YT/VA £12.60
SBS004A Rear Hub Bearing Sealed TA/TB/TC/YA/YT/VA £16.80
SBS005 Rear hub bearing TD/TF/YB £12.00
SBS005A Rear hub bearing TD/TF/YB [Sealed] £15.00
SBS007 Propshaft U.J. bearing  T's/Y's £9.00
SBS009 Differential bearing TA/TB/TC/TD/TF/YA/YB £17.70
SBS013 Bevel Pinion Rear TA/TB/TC Front J/P (Single row  Roller) £46.80
SBS014 Bevel pinion  Front TA/TB/TC Rear J/P (Double row ball) £67.20
SBS017 Pinion Bearing Front & Rear Set TD/TF/YB £117.60
SBS019 Front hub seal M/J/P/N/TA/TB/TC £3.42
SBS020 Front hub seal YA £4.20
SBS021 Front hub seal TD/TF/YB £3.24
SBS022 Front hub seal  VA £6.00
SBS023 Rear hub seal M/J/P/N £2.88
SBS024 Rear hub seal TA/B/C/YA £3.20
SBS025 Rear hub seal TD/TF/YB £1.98
SBS026 Rear hub seal VA £4.20
SBS028 Pinion seal YA £6.00
SBS029 Pinion seal TD/TF/YB £0.00
SBS030 Bevel pinion front VA £54.00
SBS031 Bevel pinion rear VA £29.59
SBS037 Constant mesh pinion bearing -TA £14.50
SBS038 Gearbox main shaft bearing -TA £12.00
SBS039 Layshaft needle rollers [set] TB/TC £130.00
SBS039B Roller bearing set 2nd Gear £140.34
SBS040 Bearing - Front hub outer - SA/WA £12.25
SBS043 Dynamo [ C39/40 ] bearing front  TD/TF/YB £3.96
SBS043A Dynamo [ C39 ] bush rear  TD/TF/YB £6.66
SBS044 Set of 3 small seals for Jackall pump YA/YB/YT £22.20
SBS044A Jackall pump shaft seal £7.20
SBS044B Jackall Ram Seal £13.00
SBS045 Jackall Flexible Hose Rear Axle YA/YB/YT £37.40
SBS046 Jackall Ram (Front) Stainless Steel £79.20
SBS047 Jackall Ram (Rear) Stainless Steel £79.20
SBS048 1/2" Tube nut & olive Jackall reservoir to pump for 5/16" pipe £2.20

SBS048A
7/16" Tube nut & olive Jackall pump outlets and 3 way connector                           

for 1/4" pipe.
£2.00

SBS048B 1/2" Tube nut & olive Jackall Ram top fittings for 1/4" pipe £4.32
SBS056 Bearing, first motion shaft. TB/TC £20.40
SBS056A Bearing, rear mainshaft TB/TC £16.80
SBS057 Bearing, first motion shaft. TD/TF/Y £30.70
SBS057A Bearing, centre mainshaft TD/TF/Y £21.54
SBS057B Bearing, rear mainshaft TD/TF/Y ****USE SBS001****

15 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

BODY
SBY001 Hood Duck TA/TB/TC/TD/TF  [Tan or Black] £509.00
SBY001S Hood-Stayfast TA/TB/TC/TD/TF  [Beige or Black] £581.00
SBY002 Set Sidescreen covers Duck TA/TB/TC/TD/TF  [Tan or Black] £448.00
SBY002S Set Sidescreen covers Stayfast TA/TB/TC/TD/TF  [Beige or Black] £521.00
SBY003 Tonneau Duck TA/B/C/D/F  [Tan or Black] £412.00
SBY003S Tonneau Stayfast TA/B/C/D/F  [Beige or Black] £471.00
SBY004 1/2 Tonneau Duck TA/TB/TC/TD/TF  [Tan or Black] £282.00
SBY004S 1/2 Tonneau Stayfast TA/TB/TC/TD/TF  [Beige or Black] £334.00
SBY012 Hood Rail-front TA/B/C £116.27
SBY013 Hood Rail-front TD/TF £116.27
SBY013A Socket for hood rail ALL MODELS £6.60
SBY013B Hidem end cap for corner of hood £3.00
SBY014B Sidescreen strip nut/bolt set - TA/TB/TC £16.20
SBY015A Sidescreen strip set unfinished ends  TA/TB/TC    Not Available
SBY015B Sidescreen strip set-ready to fit spoon ends [IncludingNuts & Bolts] TC £168.00
SBY015G Sidescreen strip set unfinished ends YT Not available
SBY016A Sidescreen strip set  [Including Nuts & Bolts] TD 2 Bow Hood £162.00
SBY016B Sidescreen strip set  [Including Nuts & Bolts] TF £162.00
SBY016D Sidescreen set fixings - TD/TF £42.00
SBY016J Rubber buffer set, hood to sidescreen £4.82
SBY017 Sidescreen socket door chrome £8.93
SBY017A Sidescreen socket Rear TA/B/C £11.88
SBY017B Sidescreen socket Rear TD/TF RH £10.92
SBY017C Sidescreen socket Rear TD/TF LH £10.92
SBY018 Door check rod T Type £18.00
SBY019 Door hinge pin assembly TA/TB/TC £10.20
SBY019A Door hinge pin assembly  YA/YB (Also fit TA Tickford) £32.96
SBY023 Headlamp bracket nut/bolt chrome £16.50
SBY024 Stud for headlamp bracket TD  [4 needed per car] £3.78
SBY024A Stud for headlamp bracket TA/TB/TC  £11.52
SBY026B Bolt set, tub to inner tank brackets TD £2.64
SBY027 Tank strap  in primer TA/TB/TC £27.60
SBY028 Tank strap in primer- TD £43.80
SBY028A Tank strap unpainted  - TF £32.40
SBY029 Tank strap chrome dome nut  [4 needed per car TD/TF] [ 2 needed per car £3.30
SBY030 Tank strap rubber strip set (To do 2 straps) £12.60
SBY030A Rubber pad set, tank to chassis TD £18.14
SBY030B Rubber pad set, tank to chassis TA/B/C £56.40
SBY031 Tank strap nut, bottom *************USE SBY301
SBY031A Tank strap bolt [4 needed per car TD/TF] [ 2 needed per car TA/B/C] £3.89
SBY032 Radiator or Spare Wheel Spinner Badge Black/White £23.00
SBY032A Radiator Badge Brown/Cream Enamel & Chrome £62.40
SBY035 Radiator Cap Chrome £58.20
SBY036 Pad front wing stay - TA/TB/TC £1.80
SBY036A Bush- front wing stay - TA/TB/TC £1.87
SBY036B Front Wing Stay L/H - TA,TB,TC £74.40
SBY036C Front Wing Stay R/H - TA,TB,TC £74.40
SBY046A Running board strip set TA/TB £63.60
SBY047B Running board strip set TC £51.60
SBY048A Running board strips set - TD £98.40
SBY048C Bolt/nut set [20] Running board strips - TD/TC [2 needed for TA/B] £10.32
SBY049A Running board strips set - TF £150.00
SBY049B Stud & nut for running board fixing TF £1.69
SBY049C Bonnet strip stud plate and nut set £9.24
SBY050A Threshold plate  - pair £39.60
SBY051 Glovebox, cardboard flock lined TD £45.00
SBY051A Glovebox Door Hinge TD £8.59
SBY051B Glovebox Door Knob TD £5.16

16 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

SBY055 Spare wheel spinner TA/B/C £100.80
SBY055A Spare wheel spinner TF £84.00
SBY056 Spare wheel spinner badge [enamel/ chrome] TA/TB/TC Brown/cream £62.40
SBY057 Key, Spring & collar for spare wheel spinner  TA/TB/TC £32.40
SBY060 Luggage rack - chrome TA/TB/TC £354.00
SBY062 Luggage rack High Level  Stainless Steel TF £280.00
SBY065 Luggage rack High Level  Stainless Steel TA/TB/TC £280.00
SBY066 Luggage rack High Level  Stainless Steel  TD £280.00
SBY068 Luggage rack TD - Runyan American style [Low level folding] Chrome £210.00
SBY070 Bonnet support bracket [to support open bonnet] (2) TD £5.11
SBY071 Yoke end 5/16" BSF for radiator stay TD/TF £13.66
SBY072 Yoke front of chassis stay TD/TF £10.96
SBY074 Dash Panel lettering (Black) TA/TB/TC £20.40
SBY074A Dash Panel lettering (White) TA/TB/TC £20.40
SBY075 Centre instrument panel TD Bronze £234.00
SBY075A Centre instrument panel Late TC  Bronze with black lettering £234.00
SBY075C Centre instrument panel TA/B/TC  Black with white lettering £234.00
SBY076A Dashboard screw & washer set [set of 8] TA/TB/TC £8.40
SBY076B Dashboard screw & washer set [set of 8] TD £8.40
SBY077A Instrument panel bolt nut & washer set zinc [Set of 6] £7.50
SBY077B Instrument panel bolt nut & washer set chrome [Set of 6] £7.92
SBY078 Petrol pipe tank to pump - TD/ early TF £28.80
SBY078A Petrol pipe kit copper - TC £79.92
SBY078B Petrol pipe set , including reserve pipe.  Copper - TA £100.80
SBY078C Petrol pipe  Tank to pump & front to rear Late TF £36.00
SBY078D Petrol pipe Tank to pump Only Late TF £20.40
SBY078E Petrol pipe Front to pump Only Late TF £20.40
SBY078F 5/16" Copper fuel pipe connector with nuts and glands £3.50
SBY079 Petrol pipe-tank to pump, copper - YA/YB £36.65
SBY082A Bolt rear wing to fuel tank TA/TB/TC £20.89
SBY082B Bush Set [2], fuel tank to wing TA/B/C £3.06
SBY083 Petrol tank TA (late) Stainless Steel £743.00
SBY084 Petrol tank TC Stainless Steel £743.00
SBY085 Petrol tank TD Stainless Steel £743.00
SBY085A Petrol tank TF Stainless Steel £600.00
SBY086 Petrol tank side panel acorn bolt £4.68
SBY086A Fibre washer for tank side panel acorn bolt £0.66
SBY087 Petrol tank end plates set TA/TB/TC £230.00
SBY087A Petrol tank end plates set TD £212.00
SBY087B Petrol tank end plates set TF £162.00
SBY089 Dome nut chrome  wheel arch seat adjuster bracket TD £3.54
SBY090 Seat adjusting wingbolt TA/B/C/D £10.80
SBY090A Seat adjust bracket TA/TB/TC/TD £37.20
SBY090B Bracket, RH wheel arch seat Adjuster TC £62.40
SBY090C Bracket, LH wheel arch seat Adjuster TC £62.40
SBY090D Machine Screw for SBY090A & Mirror Arm TA/TB/TC £1.00
SBY090E Machine Screw for SBY090A & Striker plate & Mirror Arm TD/TF £1.00
SBY090F Seat Back Hinge TA/TB/TC/TD £21.34
SBY090G Socket for Seat Back Hinge TA/TB/TC/TD £16.80
SBY090H Bracket,  wheel arch for seat seat Adjuster  TD £24.60
SBY090L Seat slide set both sides TD £105.60
SBY092 Bracket, RH wheel arch seat Adjuster TA/TB £76.80
SBY092A Bracket, LH wheel arch seat Adjuster TA/TB £76.80
SBY093 Apron screws TD - 4 front 2 rear / TF  - 2 rear £2.04
SBY094 Washer for Fr/rear apron screws stainless steel £0.49
SBY095 Bumper bolt & nut chrome TD/TF/YA/YB £2.78
SBY096 Front bumper -TD/TF £162.00
SBY097 Rear bumper -TD £166.80
SBY097A Rear Bumper -TF £174.00

17 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

SBY098 Over-rider TD/TF bumper £74.40
SBY098A Over-rider seal TD/TF/YA/YB £2.50
SBY098B Over-rider, chrome plated, YB £118.32
SBY108 Sidescreen wing nut -T Type / YT £9.58
SBY110 Radiator stay (bent) including yoke RH TB/TC £64.74
SBY110A Radiator stay including yoke LH TB/TC - Both sides TA £74.82
SBY110B Radiator stay including yoke  Both sides TD/TF £36.00
SBY110Y Radiator stay including yoke  Both sides Y Type £71.64
SBY111 Tonneau rail - TC £80.00
SBY111B Tonneau rail - TD £80.00
SBY112 Grab handle-chrome- MG motif £54.00
SBY115 Fuel filler cap polished alloy - LateTA/TB/TC/TD/TF/YA/YB £107.40
SBY115R Repair Internals for SBY115 Fuel filler cap £38.40
SBY117 Fuel cap trigger T & Y £32.40
SBY117A Spring for Trigger Fuel Cap £11.88
SBY118 Fuel cap internal clip - T & Y £11.04
SBY118A Cork 'O' ring for original type tank filler neck £6.19
SBY118B Fuel cap round cork seal £1.92
SBY119 Bonnet corner rubber  YA/ YB/YT - each £7.15
SBY120 Bonnet corner kit [Except Y's] - set 4 £10.32
SBY121B Bonnet chrome centre hinge strip T-types £98.75
SBY121D Bonnet side brass hinge  rod T-types £19.00
SBY122 Bonnet hinge end - inner support T-types £2.34
SBY123 Bonnet hinge end - Chrome outer support T-types £16.33
SBY124 Bonnet handle l/h - T's £31.80
SBY125 Bonnet handle r/h - T's £31.80
SBY126 Door wedge & nut only - T types £20.40
SBY127 Mounting plate door strike TC £10.32
SBY127B Striker plate & wedge including screws, Silent Travel logo TA/B/C £49.20
SBY127C Machine Screw striker plate TA/TB/TC & Sidescreen plate TC £3.06
SBY127D Wood screw, lock striker plate/sidescreen plate/door handle TA/B/C £1.62
SBY128A Striker plate + wedge with screws  TD/TF with Silent Travel logo £48.00
SBY128B Striker plate mount TD/TF £4.92
SBY128C Door Lock Mounting Plate TD/TF £4.90
SBY128D Door Lock Shim, 1/16" T/Types £4.20
SBY128E Door Lock Mounting Plate TC £17.40
SBY129 Door lock  - T types - LH £81.60
SBY129A Machine screw set [4 screws] for 2 door lock covers £7.73
SBY129B Door Lock Cover only LH £14.40
SBY130 Door lock  - T types - RH £81.60
SBY130A Door Lock Cover only RH £14.40
SBY131 Door handle LH- TA/TB/TC £27.60
SBY132 Door handle RH - TA/TB/TC £27.60
SBY133 Door handle - TD/TF [non locking] £31.20
SBY133A Door handle Y Type [non locking] Not available
SBY133B Drivers side [O/S] locking door handle with 2 keys YA/YB/YT £61.20
SBY133C Boot Handle, with lock & 2 keys YA/YB/YT £47.69
SBY133D Wood screw, door handle/sidescreen plate/striker plate TD/TF £0.95
SBY133G Striker Plate for boot catch on body YA/YB/YT £81.60
SBY133H Boot Hinges (PAIR) Y- Type Chrome £225.60
SBY133J Rubber pads for boot hinges (pair) Y-Type £33.54
SBY134 Door handle seal - TD/TF £1.98
SBY135L Badge bar bracket - L/Hand  TA/TB/TC £23.76
SBY135R Badge bar bracket - R/hand TA/TB/TC £23.76
SBY136 Badge bar - chrome  TA/TB/TC £64.80
SBY137 Badge bar chrome TD/TF/Y £83.00
SBY137C Badge Clip for Badge Bars S/S £4.80
SBY138A Bonnet catch bracket on wing TA/B/C £24.00
SBY138B Bonnet catch bracket on wing TD £24.24

18 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

SBY138C Chrome Screw for Bonnet Catch [Set of 4] TA/TB/TC/TD £8.74
SBY139 Bonnet catch R/Hand - TA/TB/TC/TD £31.68
SBY139A Bonnet catch L/Hand - TA/TB/TC/TD £31.68
SBY141 Sidescreen mounting plate square TC/YT £14.93
SBY142 Sidescreen mounting plate - TD/TF £8.50
SBY142A Screw - sidecreen mounting plate TD/TF******USE SBY133D
SBY143 Sidescreen circular mounting plate-TA/TB £18.00
SBY145 Interior Mirror - TA/TB/TC £98.50
SBY146 Bonnet/bulkhead rubber seal TA/TB/TC/TD/TF £19.80
SBY147 Door buffer - TA/TB/TC/TD/TF £1.92
SBY148 Rubber ferrule - headlamp to radiator mounting £2.88
SBY148A Grommet for headlamp bar Y type £1.00
SBY149 Round rubber bonnet buffer [8 needed per car]  -  Y type £0.72
SBY149A Bonnet buffer plate and buffer (set of 4) - T' Types £28.68
SBY149B Bonnet side buffers set of 4 Y Types £42.48
SBY149C Bonnet buffer plate and buffer (EACH) T' Types £7.32
SBY150 14mm Spark plug holder- 4 cyl.model MG Logo £14.00
SBY152A Toolbox Lid Clips (Pair)TC/TD/TF/Y £30.77
SBY152B Wooden Block for supporting Jack in toolbox TA/TB £7.20
SBY152C Wooden Block for supporting Jack in toolbox TA/TB £7.20
SBY153 Rubber pad under wing -head lamp support -TA/TB/TC/TD £1.49
SBY154 Rubber seal above wing head lamp support - TA/TB/TC/TD £3.10
SBY154Y Pair of Rubber Pads Wing to Headlamp Support Bracket YA/YB YT £4.80

SBY155
Rubber pad running board front to wing TA/TB/TC/TD/TF & TF rear wing to 

running board 
£5.22

SBY156 Pedal draught excluder - T's £15.60
SBY156A Plate for pedal draught excluder £12.36
SBY156B Pad, floorboard to pedal box TD/TF £6.23
SBY157 Rubber bush rear wing to running board TD[set of 2] £2.64
SBY159 Steering column draught draught excluder TA/B/C £14.88
SBY159A Outer circular securing plate for draught excluder TA/B/C £16.00
SBY159B Inner securing plate for SBY159 draught excluder TA/B/C £38.40
SBY160 Pedal rubber TA/TB/TC £3.96
SBY160A Roller Throttle Pedal TA/TB/TC £9.60
SBY160B Bush for Roller Throttle Pedal TA/TB/TC £20.00
SBY161 Pedal rubber TD/TF/Y's £2.53
SBY161A Throttle Roller Pedal TD/TF/Y £9.60
SBY162 Throttle Pedal RHD TD/TF £116.40
SBY162A Throttle return spring TA/TB/TC/TD/TF £11.28
SBY162B Throttle return spring bracket to starter bolt TB/TC/TD/TF/Y £30.00
SBY163 Throttle pedal assembly including roller TB/TC £132.00
SBY172 Interior mirror - TD/TF £47.76
SBY173 Interior mirror rubber pad - TD/TF £1.68
SBY174 Headlamp bracket chrome through rad.shell - TA/TB/TC/TD £20.40
SBY178 Bumper Packing Spacer Aluminium £2.52
SBY180 Seal - Radiator cap £2.20
SBY181 Mounting kit - radiator [4 bushes, 4 rings] £14.92
SBY181A Bottom Radiator to Chassis Mounting Bracket TA/TB/TC/TD £110.00
SBY186 Tonneau rail - TD £54.00
SBY190 'TF 1500' Bonnet badge £21.00
SBY200 Spring clip for starting handle storage [3 needed per car] £9.28
SBY210 Bead set, dash chrome TA/TB/TC/Y £85.00
SBY211 Bead set, dash & glovebox surround chrome TD £107.40
SBY215 Grommet, wiper shaft TF £15.60
SBY216 Grommet, wiper shaft Y's £7.80
SBY222 Windscreen Seal - 12' Roll YA/YB £44.16
SBY224C P Clip 5/16" Dia, Fastening hole Dia 7/32", Screw Dia 3/16" £0.59
SBY225A Bracket for  Rear Bumper TD/TF [2 needed per car] £46.80
SBY225B Bolt Rear Bumper Bracket to Chassis TD/TF £5.76

19 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

SBY225C Spacer Rear Bumper Bracket to Chassis TD/TF £6.00
SBY225E Bracket Front Bumper TD/TF [2 needed per car] £44.40
SBY225F Bolt Front Bumper Bracket to Chassis TD/TF £5.76
SBY225G Spacer Front Bumper Bracket to Chassis TD/TF £2.40
SBY226 Radiator shell tape TA/B/C/D & Y's £16.44
SBY226A Radiator shell strip TF £18.00
SBY227 Cowl Rubber Set Bulkhead to Body TA/B/C £55.80
SBY228 Screw and washer set for floorboards TA/B/C £15.36
SBY229 Screw and washer set for floorboards TD/TF £17.16
SBY230 2BA zinc plated nut £0.12
SBY230A 2BA 1/2" Dia washer [3/16" x 1/2"] zinc plated £0.12
SBY230B 2BA spring washer plated £0.12
SBY231 Backing for rear number plate & ‘D’ rear lamps TA/B/C £54.00
SBY231A Backing for rear number plate with Round rear lamps early TA £46.80
SBY231B Backing for front number plate TA/B/C £20.94
SBY231C Rear number plate backing plate TD £40.00
SBY231D Front number plate backing plate TD - Front & Rear TF £11.40
SBY231F Front Number Plate Bracket TD/TF/Y £5.28
SBY231G Rear Number Plate Mounting Bracket TA/B/C [PAIR] £39.00
SBY231H Number plate rear "S" mounting bracket TD ( RHD ) £54.00
SBY232 Grommet for front bumper mount Y £13.32
SBY233 Plug for tunnel access Y's £4.44
SBY234 Fuel line to tank adaptor with filter TA/TB/TC/TD/TF £37.20
SBY235 Door Hinge RH Top TD/TF £43.80
SBY235A Door Hinge LH Top TD/TF £46.20
SBY235B Door Hinge RH Bottom TD/TF £46.20
SBY235C Door Hinge LH Bottom TD/TF £46.20
SBY236 Rear Reflector Assembly TF £18.00
SBY237 Battery Box Liner TD/TF £40.80
SBY237A Battery Clamp Bar TD/TF £47.38
SBY237B Hook Bolts and Nuts Battery Clamp Bar TD/TF [Set of 2] £12.36
SBY240 Wing Piping [9 yards] (Red) £64.20
SBY240A Wing Piping [9 yards] (Green) £64.20
SBY240B Wing Piping [9 yards] (Black) £64.20
SBY240C Wing Piping [9 yards] (Beige) £64.20
SBY240D Wing Piping [9 yards] (Ivory) £73.20
SBY241 Conversion Bar Y type Front Bumper [To fit TD Rear Bumper to Front of Y] £81.60
SBY241A Conversion Bar Y type Rear Bumper [To fit TD Rear Bumper to Rearof Y] £84.00
SBY242 O-Ring Dash to Tacho/Speedo TA,TB,TC,TD £3.30
SBY242A Brass thumb nut for securing Tacho & Speedo [M5] £4.14
SBY242B Speedo / Rev counter Glass 5" Convex £13.20
SBY242TF Instrument Glass 4" Diameter flat TF £8.52
SBY242C O-Ring Dash to Ammeter/Oil pressure gauge 2" TA,TB,TC,TD £0.48
SBY242D Speedo/Rev counter Bracket TA/TB/TC/TD £15.00
SBY242E Ammeter/Oil pressure gauge bracket TA/TB/TC/TD £7.50
SBY243 Grommet Set for bulkhead TC (6 round grommets) £10.20
SBY243A Grommet Set for bulkhead TD/TF (6 grommets) £15.00
SBY243B Grommet Set for bulkhead TA/TB  (8 round grommets 2 oblong) £16.80
SBY244A Felt Lining Kit for toolbox [White] TD/TF £56.40
SBY245A Grill Slat set for TA/B/C/D £88.08
SBY246 Seal Front of Sunroof  YA/YB £13.20
SBY246A Seal sunroof rear 3 ft YA/YB £24.00
SBY247 Running Board to wing pad YA/YB/YT £45.10
SBY248 Seal set side and rear windows YA/YB £44.40
SBY249 Weather strip windows inside and outs Y (500mm long) £10.80
SBY251 Spare wheel locker key Y's £12.72
SBY251A Spare wheel locker key hole cover Y's £14.40
SBY252 Locating Pins Door for Catch Y Types £27.30
SBY253 Door Striker Plate Y Types £57.60

20 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

SBY254 Guide Plate Door Pin Y Types £30.60
SBY255 Door Edge Seal YA/YB/YT £21.60
SBY256 Seal for Boot Lid or Spare Wheel Locker Y Type £27.60
SBY257 Bulkhead Grommet for Wiring Harness Y's £17.40
SBY259 Bonnet Hinge Front Support Y Type £25.20
SBY259A Bonnet Hinge Rear Support Y Type £60.00

SBY262 Glove Box bottom, LH TF £51.60
SBY263 Glove Box bottom, RH TF £51.60
SBY263A Glove Box Tops [Pair] TF £33.60
SBY271 Chassis ID Plate TC £7.86
SBY271A Chassis ID Plate TD £7.86
SBY271B Chassis ID Plate TF £7.86
SBY271C Screw & Nut (SET of 4) for  ID plate £8.88
SBY271G Chassis ID Plate TA £7.86
SBY271H Chassis ID Plate TB £7.86
SBY277 Scuttle side mounting brackets TA/TB/TC £19.20
SBY277A Scuttle top to dash mounting  bracket TA/TB/TC £19.20
SBY279 Front chassis cross tube TA/TB/TC £71.88
SBY280 Front Wing Tie Rod Bracket [LH] TF £18.50
SBY280A Front Wing Tie Rod Bracket [RH] TF £18.50
SBY290 Ashtray rear of front seat YA/YB/YT £60.00
SBY300A 1/4" BSF Nut [Pack of 5] £0.78
SBY301A 5/16" BSF Nut [Pack of 5] £0.80
SBY302A 3/8" BSF Nut [Pack of 5] £1.00
SBY303 7/16" BSF Nut £0.36
SBY309 1/4" spring washer  £0.07
SBY310A 5/16" Plain Washer [Pack of 5] £0.40
SBY311A 3/8" Plain Washer [Pack of 5] £0.48
SBY312A 5/16" Spring Washer [Pack of 5] £0.48
SBY313A 3/8" Spring Washer [Pack of 5] £0.60
SBY314 7/16" Spring Washer £0.22
SBY330 1/4" ID Dished Washer for Floorboards £0.38
SBY331 1/4" BSF x 5/8" C/sunk Slotted Screw (Floorboard & Radiator Shell) £0.55
SBY332 1/4" BSF x 1-1/4" Countersunk Slotted Screw [Floorboard] £0.56
SBY333 1/4" BSF x 2" Countersunk Slotted Screw [T Type Door Hinges] £1.27
SBY339 1/4" BSF x 5/8" Machine Screw £0.54
SBY343 5/16" BSF x 2"  Bolt £1.44
SBY344 5/16" BSF x 2-1/2"  Bolt £1.50

21 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

CABLES
SCC001 Starter cable TA/TB/TC/ YA £72.00
SCC002 Choke cable TA/TB/TC /YA £69.00
SCC003 Handbrake cable - TA/TB/TC £81.60
SCC003A Anchor pin handbrake cable outer to chassis TA/TB/TC £24.60
SCC004A Hand brake cable  TD / TF  With grease nipple £39.71
SCC004B Hand brake cable  YB  With grease nipple £48.24
SCC004C Handbrake cable YA/YT Left Hand NCA
SCC004D Handbrake cable YA/YT Right Hand NCA
SCC005 Starter cable - TD/YT £43.33
SCC006 Slow running cable -  TA/TB/TC £71.78
SCC007 Starter  cable - TF £43.20
SCC008 Choke cable - TD/YT £51.00
SCC009 Choke cable - TF £51.60
SCC010 Speedo cable   TC/TD/TF £43.20
SCC010A Speedo cable LH Drive TD £43.20
SCC010B Speedo Cable 5 speed TC/TD/TF RHD [black vinyl covered] £44.40
SCC011 Speedo cable  - TA/TB £43.20
SCC012 Tacho cable - push on tacho end/screw on dynamo end - TA/TB £43.20
SCC012A Tacho cable - push on both ends TA £43.20
SCC013 Tacho cable TC/TD/TF £43.20
SCC013A Tach cable TD- TF LHD £43.20
SCC014 Coupling for starter cable TD/TF £7.60
SCC029 Choke cable bracket TB/TC £22.80
SCC029A Control cable cover on bulkhead TA/TB/TC £21.00
SCC031 Cable connector £11.28
SCC032 Speedo Cable  YA/YB ( Black vinyl casing) £26.34
SCC033 Brake cable Front J1 & J2 £44.40
SCC034 Brake Cable Rear J1 & J2 £44.40
SCC035 Brake Cable Front PA/PB £44.40
SCC036 Brake Cable Rear PA/PB & J4 £44.40

22 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

CYLINDER HEAD
SCH001 Stud set-rocker cover  MPJG £4.20
SCH002 Stud - rocker cover  XPAG £3.84
SCH002A Chrome Nut MG Logo - Alloy rocker cover  XPAG £21.36
SCH002B Black Plastic Thumb Nut for Rocker Cover £9.90
SCH002C Fibre washer for rocker cover nuts £0.60
SCH005 Inlet valve  33mm [1.5/16"] SETof 4 £34.80
SCH005A Inlet valve  33mm [1.5/16"] £8.82
SCH006 Inlet Valve 36mm [1.7/16"] SETof 4 £34.80
SCH006A Inlet Valve 36mm [1.7/16"] £8.82
SCH008 Exhaust valve 31mm [1.3/16"] SETof 4 £34.80
SCH008A Exhaust valve 31mm [1.3/16"] £8.82
SCH009 Exhaust valve 34mm [1.3/8"] SETof 4 £34.80
SCH009A Exhaust valve 34mm [1.3/8"] £8.82
SCH012 Valve guide inlet  Steel  XPAG £4.20
SCH013 Valve guide inlet-bronze XPAG £5.16
SCH013SET Valve guide inlet-bronze XPAG SET OF 4 £20.50
SCH014 Valve guide exhaust steel  XPAG £4.20
SCH015 Valve guide exhaust-bronzeXPAG £5.16
SCH015SET Valve guide exhaust-bronzeXPAG SET OF 4 £20.50
SCH016 Valve spring set  Standard XPAG £34.80
SCH016A Valve spring set  [150 lb] XPAG £38.40
SCH016B Valve spring washer, bottom XPAG £2.66
SCH016C Valve spring top cap, XPAG £4.80
SCH017 Valve collet  XPAG   pair [2 per valve] £3.60
SCH017A Valve stem seal o-ring [pack of 4] £0.96
SCH017B Valve stem oil seals mini 1275 type £0.48
SCH018 Rocker  shaft - 14 inch - XPAG £24.04
SCH019 Rocker  shaft - 14.7/8 inch - XPAG £24.04
SCH020 Rocker shaft pillar bolt setTA £28.56
SCH021 Rocker shaft pill.bolt M10 XPAG £3.00
SCH021A Rocker shaft pillar bolt M8 XPAG £3.72
SCH022A Rocker arm  XPAG nos 1 & 5   14  inch shaft £16.80
SCH022B Rocker arm  XPAG  nos 1&5  14.3/4 inch shaft £16.80
SCH022C Rocker arm  All   XPAG nos 2 & 6 £16.80
SCH022D Rocker arm  All  XPAG  nos 3 & 7 £16.80
SCH022E Rocker arm  XPAG  nos 4 & 8  14 inch shaft £16.80
SCH022F Rocker arm  XPAG  nos 4 & 8  14.3/4 inch shaft £16.80
SCH022G Plug, end of rocker shaft [2 needed per car] - XPAG £16.20
SCH022H screw-water plate rear of head XPAG £0.60
SCH022J Rocker Shaft Thrust Washer For Springs  [10 needed per car] - XPAG £1.08
SCH022K Rocker spring, for front, int. rear [4 needed per car] TD from 9008 £17.40
SCH022L Rocker spring, for centre - TD from 9008/TF £12.00
SCH024 Rocker adjusting screw TB/TC/early TD/YA £6.60
SCH024A Set of 8 Rocker adjusting screws & nuts TB/TC/early TD/YA £48.00
SCH025 Rocker adjusting screw  late TD/TF/YB + MPJG £6.60
SCH025A Set of 8 Rocker adjusting screws & nuts late TD/TF/YB + MPJG £48.00
SCH026 Rocker adjusting nut XPAG/MPJG £1.56
SCH027 MPJG Cylinder head gasket [copper asbestos] TA £78.60
SCH027A TA MPJG Solid Copper Head Gasket (Needs Annealing before fitting) £66.00
SCH027V VA TPBG Solid Copper Head Gasket (Needs Annealing before fitting) out of stock
SCH028 Cylinder head gasket TB/TC/early  TD/YA  Oval water holes £57.00
SCH029 Cylinder head gasket  late TD/TF/YB Round  water holes £57.00
SCH030 Cylinder head gasket TF1500 £66.00
SCH031 Cylinder head gasket set [copper composite type] MPJG £144.00

SCH031B
Cylinder head gasket set with Solid Copper head gasket    MPJG                                   

[Solid Copper Head Gasket needs annealing   before fitting]                        
£134.40

SCH032 Cylinder head gasket set XPAG TB/TC/early TD/YA Oval water holes £78.00
SCH033 Cylinder head gasket set XPAG TD/TF/YB round water holes £78.00

23 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

SCH034 Cylinder head gasketset XPEG TF1500 £84.00
SCH035 Rocker cover gasket - XPAG £7.20
SCH035A Rocker cover gasket - MPJG £9.60
SCH036 Cylinder head stud set TPBG [VA] £30.00
SCH038 Cylinder head stud set MPJG £36.00
SCH039 Cylinder head stud XPAG & MPJG Short Stud [single] £4.20
SCH040 Cylinder head stud [set of 10]  XPAG £33.60
SCH043 Cylinder head washer set [11] -  TPBG/MPJG [TA/VA] £2.76

SCH044 Cylinder head nut & washer set [11]   TPBG/MPJG [TA/VA]3/8 BSF spanner size £33.00

SCH046 Cylinder head nut & washers [set of 10]  XPAG 3/8 BSF spanner size £30.00
SCH046A Cylinder head washer set  [set of 10]  XPAG £2.70
SCH047 Water plate-back of head XPAG £10.92
SCH047B Gasket for rear cyl. head water plate - XPAG £1.72
SCH047C Gasket for front water outlet XPAG £1.98
SCH047D Bolt set [alt. to screws] for SCH047 water plate XPAG £9.00
SCH047F Gasket for front/rear cylinder head water outlet MPJG £4.32
SCH048 Screw-water plate rear of head XPAG £2.58
SCH049 Rocker arm bush - short  XPAG £3.42
SCH050 Rocker arm bush - long   XPAG £3.42
SCH051 Rocker  shaft - MPJG £42.00
SCH051A MPJG rear rocker pillar modification kits £79.20
SCH052 Rocker cover oil filler cap XPAG £36.37
SCH053 Rocker cover alloy finned TD/TF POA
SCH054 Rocker Pillar with oil hole  -  XPAG £9.84
SCH054A Rocker Pillar shim set for skimmed head £31.76
SCH055 Rocker Pillar bolt lock tabs, set of 4 - XPAG £6.89
SCH055A Rocker Pillar bolt lock tabs, set of 4 - MPJG £4.50
SCH056 Air filter to rocker cover grommet TB/TC £2.76
SCH056A Breather hose air cleaner to rocker cover TD £8.03
SCH057 Rubber Collar for Air Inlet Manifold TB/TC £13.14
SCH057A Chrome Clamp for Rubber Collar for Air Inlet Manifold TB/TC £31.20
SCH057B  Wire Clamp manifold to air cleaner canister TB/TC £1.68
SCH061 Set of Spring Caps & Bases [MPJG  with Triple Valve Springs] £195.12
SCH061BASE Spring Base [MPJG  with Triple Valve Springs] £12.86
SCH061TOP Spring Caps [MPJG  with Triple Valve Springs] £16.08
SCH059 Inlet Valve VA/SA (1.344") [NEW OLD STOCK] £10.00
SCH062 Round Spacer Washer Rocker Pillar(2&3) XPAG £2.52
SCH062A Spacer Washer Rocker Pillar (1&4 D shaped) XPAG £5.04

24 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

ELECTRICAL
Wiring Looms for most models  Ring and speak to Pete POA

SEL013 Torpedo light with amber bulb for rear indicators PAIR £216.00
SEL013A Indicator lamp oblong amber lens bottom fixing [PAIR] £90.00
SEL013B Indicator lamp round amber pedestal/stalk mounting [pair] £66.00
SEL013C Indicator mounting bracket for SEL013B TD/TF [pair] £32.10
SEL016 Pad front sidelight/parking lamp £1.32
SEL017 Sidelight lens 1130 type[glass], C/W surround & seal £33.60
SEL018 Red dot' Lucas Emblem for torpedo sidelight NLA
SEL019A Sidelight conversion set [pair] with white/amber bulbs for indicators £79.08
SEL019B Amber capless bulb for SEL019A £1.80
SEL019C White capless bulb for SEL 019A £2.30
SEL022 Stop/tail light bulb  21/5W £0.16
SEL023 Single element bulb  21W £0.16

SEL024A
Torpedo sidelights chrome, Glass lens, Red dot, with amber/white bulbs for 

indicators, Plain red dot [PAIR]
£240.00

SEL025 Battery to earth strap MMM/TA/TB/TC £21.16
SEL025B Battery to earth strap  TD/TF/Y £21.16
SEL026 Battery to starter cable MMM/TA £27.84
SEL026C Battery to starter cable with conduit TA £55.44
SEL027 Battery to starter cable TB/TC £33.00
SEL028 Battery to starter switchCable   TD/TF/Y £10.20
SEL029 Engine to Chassis earth strap (all) £20.40
SEL031 Switch to starter cable TD/TF £10.80
SEL031A Switch to starter cable Y Type 30" long £36.00
SEL034 Distributor springs [pair] for distributor 40367 & 40368 £12.78
SEL035 Distributor cap MMM/TA/VA £32.40
SEL036 Distributor cap Budget XPAG TB/TC/TD/TF/YA/YB/YT £19.50
SEL037 Distributor cap High Quality  XPAG TB/TC/TD/TF/YA/YB/YT £28.80
SEL038 Rotor arm MMM £3.30
SEL038A RED rotor arm MMM £11.70
SEL038B Rotor Arm J,D,F £20.00
SEL039A RED Rotor arm T & Y/ VA [Made in England] £7.37
SEL040 Distributor points  PA/PB/TA with original engine/VA/SA £10.80
SEL040A Distributor Base Plate PA/PB/TA/VA [Lucas 400001] DK4A distributor[New Old £30.00
SEL041 Contact set TB/TC/TD/TF/YA/YB/YT £4.60
SEL042 condenser  PA/PB/TA with original engine/VA/SA £11.23
SEL043 condenser TB/TC/TD/TF/YA/YB/YT £8.70

SEL044
Distributor Baseplate with points and condenser XPAG (Not for distributors with  

Bakerlite baseplate)
£41.40

SEL045A Dynamo NEW TD/TF with tacho drive [AEJ49] OUT OF STOCK

SEL045B Woodruff key for dynamo & water pump pulley £0.96

SEL045D

Stealth Dynamator [45 amp Alternator] with Tacho Drive Positive Earth Late 

TD/TF/YB                                                                                                                         

Can also be fitted to TA/ TB/ TC YA & YT using TD dynamo pulley & Fan

£162.00

SEL045DNT Stealth Dynamator [WITHOUT Tacho Drive] POSITIVE EARTH £142.00
SEL045E Stealth Dynamator [with Tach Drive] NEGATIVE EARTH £162.00
SEL045F Brush set C39 Dynamo £2.52
SEL045G Brush set TC Dynamo £2.64
SEL045H 45amp wire for use with SEL045D & SEL45E Stealth Dynamators £3.96
SEL046 Socket & plug set for dashboard £33.60
SEL047 Spark Plug Cap straight (Budget) £6.00
SEL047B Circular lead seperator for plug leads £4.32
SEL047C Spark Plug Cap Straight (Champion Type) £7.18
SEL047G Split Brass Washer For Plug Lead (pack of 6) £3.60
SEL052 Dynamo pulley-steel TD/TF/YB £42.32
SEL052A Dynamo fan for use with steel pulley TD/TF/YB £14.70
SEL052VA Dynamo pulley new [aluminium] VA £75.60

25 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

SEL053A Dynamo nut TD/TF [Original C39 Dynamo] £1.68
SEL053B Dynamo lock washer £0.18
SEL054 Dynamo pulley  & fan -alloy TB/TC/YA/YT £84.00
SEL055 Dynamo Adjusting Link XPAG (Bent) £27.60
SEL055A Dynamo rear mounting bracket £17.36
SEL055B Dynamo Adjusting Link XPAG (Flat) £15.50
SEL065 Dynamo terminal cover TA/TB/TC/YA/YT £42.60
SEL068 Starter switch TD/TF/YA/YB/YT £29.28
SEL068B Rubber cap for starter switch terminal £1.80
SEL068C Rubber Bush for TC starter Switch £6.60
SEL068TA Switch unit for starter motor TA [New Old Stock or Used] £39.00
SEL068TC Switch unit for starter motor TB/TC [New Old Stock or Used] £33.00
SEL069 Stop light switch, 'Lucar' terminals TD/TF,/YB £5.23
SEL069A Stop light switch, screw terminals TD/TF/YB £7.20
SEL071 HT ignition cable black copper core (Per Metre) £3.20
SEL071A Budget 12V Coil - screw in HT (covers most models) £22.80
SEL071B 12v Coil [Remax Made in England] Screw in HT (covers most models) £4.80
SEL071C HT ignition cable  1.5 metre pack £4.92
SEL072  Pair of Replica "Lucas Windtone" horns Lo & Hi £75.00

SEL073
Flexable horn mount windtone horn                                                               

(Between horn and bulkhead bracket) 2 needed per car
£24.00

SEL074 Sidelight lens screw £4.84
SEL075 Rubber seal ONLY for glass sidelight lens & surround £1.02
SEL077 Voltage Regulator  5 post - late TD/TF/YB £46.80
SEL077A Voltage regulator 9 post  - TC/early TD/YA/YT OUT OF STOCK

SEL078 Stop light switch  TA/TB/TC £32.40
SEL078A Stop light switch mounting bracket TA/TB/TC £5.88
SEL079 Spring - Stop light switch TA/TB/TC £5.70
SEL080 Tachometer reduction gearbox TC/TD/TF £94.80
SEL080A Coupling kit, Tacho gearbox to dynamo £17.27
SEL081 Indicator Relay 3H1454 [ Eight terminals ] £58.50
SEL082A Indicator turn switch TD/TF £108.00
SEL082B Bracket for SEL082A turn indicator switch - TD £6.20
SEL082C Handle for turn switch - TD/TF £3.50
SEL083 Chrome rear 'D' light split red lens, with number plate light £85.20
SEL083A Red glass lens only for 'D' split lens rear lamp £15.60
SEL083B White lens only for 'D' rear lamp £11.70
SEL083C Gasket for SEL083A D Lamp Split Red Lens £4.32
SEL083D Gasket for SEL083B D Lamp White Lens £5.40
SEL083E Chrome rear 'D' light single red  lens 1 twin filament bulb £87.60
SEL083F Chrome "Pork Pie" round rear light with number plate lamp MMM/TA £87.60
SEL084 Rear light lens, round 'Lucas 488' late TD/TF £9.60
SEL084A Pad set Plinth to wing, rear lights, set of 2 - Late TD/TF £5.98
SEL084B Plinth for round rear lights to wing late TD TF £35.40
SEL084C Round rear light assembly "Lucas 488" type Late TD & TF £33.50
SEL084D Screws For SEL084B Plinth to Wing [Set of 3] £2.16
SEL084E Rubber body only for round rear lights Late TD/TF £4.68
SEL085 Altette Horn,  faithful reproduction of original horn £228.44
SEL086 Dynamo oiler £34.80
SEL087 Dipswitch - TD/TF/YA/YB £31.50
SEL088 Combination horn/dipswitch - TA/TB/TC/ early TD £108.00
SEL088A Horn Push TF £12.00
SEL088B Chrome washer set for behind horn push TA/B/C/D £14.24
SEL090 Mounting bracket, starter switch - TD/TF/YA £14.40
SEL096 Number plate lamp TD/TF [chrome] £26.40
SEL096A Number plate lamp "T" bracket TD/TF £15.60
SEL100 Rear light assembly complete rectangular TD [to 21302] £78.00
SEL100A Rear light rubber backing cover rectangular TD [to 21302] £13.14
SEL100B Chrome rim for Square Rear Light TD [to 21302] £12.00

26 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

SEL100C Screw tail lamp rim Square Rear Light TD [to 21302] £4.80
SEL110 35A glass fuse - bag of 5 £1.30
SEL115 PLC5 ignition/light switch, with 2 keys £96.60
SEL120 Wire, windscreen frame, for wiper motor £14.40
SEL120A Grommet for wiper motor wire £1.10
SEL121 Retainer, clip and wire, headlamp TA/B/C £18.00
SEL121A Seal set rubber for TA/B/C/YA/YT 8" Headlamp rims [pair] £15.60
SEL122A Headlamp clip and screw headlamp shell to rim TD £6.96
SEL122B Headlamp retaining nut £4.38
SEL122E Wire Clip  Headlamp Unit to Rim TA/TB/TC/TD £1.75
SEL122C Headlamp chrome rim TD 7" £51.00
SEL122F Chrome Screw Headlamp clip TD £2.69
SEL125 Spark plug Long  Reach [NGK B6ES] £2.40
SEL125A Spark plug Short Reach [NGK B6HS] £2.40
SEL126 Rotary Switch, Fog/Panel lights TA/TB/TC/TD £44.40
SEL127 Fuse Block TD/TF/YB £15.30
SEL128A Indicator flasher unit GFU2101  for  screw or spade terminals £7.44
SEL129G Dash Warning Light Green TA TB TC TD Y Type £45.84
SEL129R Dash Warning Light Red TA TB TC TD Y Type £45.84
SEL131B Warning light lens TF Blue £5.10
SEL131G Warning light lens TF Green £5.10
SEL131R Warning light lens TF Red £5.10
SEL131A Dash Warning Lamp TF complete with Red,Green & Blue lens £23.00
SEL132 Lucas FT27 Replica Fog Lamp TA/TB TC POA
SEL133 Lucas 576 Reproduction Fog Lamp POA
SEL133A Lucas 576 Reproduction Spot Lamp POA

SEL134
Pair 7" Headlamp Units Complete Polished Stainless Steel with Emblem       

[Choice of 35/35watt or 55/60watt Halogen Bulbs] TD/YB
£300.00

SEL135
Pair 7" Halogen Conversion Headlamp Lenses [Choice of 35/35watt or 

55/60watt Halogen Bulbs] TD/TF/YB
£40.80

SEL136 35/35 Watt H4 Halogen bulb for SEL134 & SEL135 £4.20
SEL136A 60/55 Watt H4 Halogen bulb for SEL134 & SEL135 £3.48
SEL137 Pull/Push Switch Lights, Panel Lights & Accessories TF £28.20
SEL139 Cable tie down strap wiring loom £4.32
SEL140 Bracket, Panel light mounting TA/B/C/Early TD to 10778 £5.52
SEL140A Bulb Holder Panel light TA/B/C/Early TD to 10778 £9.72
SEL140B Bulb Panel Lights TA/B/C/D/F £0.78
SEL140C Panel light socket with Bulb and wire late TD/TF £9.72
SEL141 Dash/Map Light  TA/TB/TC £105.60
SEL141A 30 MPH lamp  TA/TB/TC £105.60
SEL152 Starter Motor TD/TF/YB £100.00

27 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

CLUTCH/GEARBOX
SGC001A Pedal Shaft TA/B/C [4-5/16" long] with split pin holes £20.00
SGC002 Clutch pedal shaft TD/TF £16.80
SGC002A Chassis Tube Pedal Shaft TD/TF £20.40
SGC002B Circlips for Clutch pedal shaft TD/TF [pack of 2] £1.20
SGC002LHD Clutch / Brake pedal shaft  TD/TF Left Hand Drive £110.40
SGC003 Clutch chain assembly TB/TC/YA £63.48
SGC003A Clevis pin for clutch chain TB/TC and Handbrake cable TD/TF £1.68
SGC003B Clutch return spring for chain assembly TB/TC £14.41
SGC003C Clutch return spring bracket to starter bolt TB/TC £10.50
SGC003D Clutch return spring bracket TD/TF & to clutch lever TB/TC £8.40
SGC004 Clutch return spring  TD/TF/Y £9.48
SGC005 Clutch cable - TD/YA/YB/YT £65.06
SGC005A Clutch Adjusting nut TD/TF £12.24
SGC005B Clutch cable to sump cast bracket TD/Y £11.34
SGC005C Clutch lever fulcrum pin with nut washers & split pins £20.10
SGC006 7 1/4" Clutch cover TB/TC/YA/early TD NEW £114.00
SGC008 7 1/4" Clutch Plate  TB/C/YA/early TD NEW £73.20

SGC008A
7-1/4" Clutch Plate Early XPAG Reconditioned EXCHANGE REQ'D          [Plus £24 

SURCHARGE TO BE REFUNDED ON RETURN OF SERVICABLE EXCHANGE UNIT]
£51.60

SGC008B
TA Clutch plate Re-corked- OLD PLATE TO BE EXCHANGED                       [Plus £40 

SURCHARGE TO BE REFUNDED ON RETURN OF SERVICABLE EXCHANGE UNIT]
£90.00

SGC008C
VA Clutch plate Re-corked- OLD PLATE TO BE EXCHANGED                      [Plus £40 

SURCHARGE TO BE REFUNDED ON RETURN OF SERVICABLE EXCHANGE UNIT]
£90.00

SGC009 8" clutch plate late [NEW] TD/TF/YB/late VA £62.40

SGC009A

8" Clutch Plate Late TD/TF/YB/late VA Reconditioned EXCHANGE REQ'D [Plus 

£24 SURCHARGE TO BE REFUNDED ON RETURN OF SERVICABLE EXCHANGE 

UNIT]

£51.60

SGC009B 8" Clutch Plate Late XPAG for Ford 5 Speed Gearbox Conversion NEW £61.00

SGC009C
7-1/4" Clutch Plate Late XPAG Ford 5 Speed Gearbox Conversion EXCHANGE [ 

SERVICABLE UNIT NEEDED FOR RECONDITIONING]
POA

SGC010 Clutch release bearing - XPAG £12.60
SGC010A Clip - clutch release bearing XPAG £1.27
SGC011 Clutch centre plate carrier spring set [3 springs] TA £33.60

SGC011A
Clutch cover spring  SA/VA/TA  EACH                                                                                    

[MUST BE FITTED IN SETS  12 for TA 15 for VA/SA]                   
£11.70

SGC012 Gearbox to bellhousing bolt set TA/TB/TC/TD/TF £6.24
SGC015 Clutch spigot bearing - MPJG/WA £18.00
SGC015A Clutch spigot bearing  XPAG £11.04
SGC016 Clutch withdrawal bearing MPJG £20.40
SGC017 Gearbox mounting - VA/TA/TB/TC OUT OF STOCK
SGC018 Gearbox mounting - [2 needed per car] - TD/TF/Y's £13.62

SGC019
7 1/4" clutch set-plate/cover/bearing  RECON - EXCHANGE REQ'D       [Plus £50 

SURCHARGE TO BE REFUNDED ON RETURN OF SERVICABLE EXCHANGE UNIT]
£148.00

SGC020
8" clutch set- plate/cover/bearing   RECON - EXCHANGE REQ'D             [Plus £50 

SURCHARGE TO BE REFUNDED ON RETURN OF SERVICABLE EXCHANGE UNIT]
£148.00

SGC021 Rubber Gear Box Snug TD/TF £40.80
SGC022 TA-Clutch operating shaft (improved design) £39.60
SGC023 Propshaft nut & bolt kit (Set of 4) £8.21
SGC023A Nut  self locking for propshaft bolt £1.20
SGC024 Gearbox Mounting - Clevis Fork assembly complete  TD/TF/Y £36.00

28 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

SGC024A Gearbox Mounting - Clevis Fork Rubber  TD/TF/Y £1.30
SGC024B Gearbox Mounting - Clevis Fork Dished Washer  TD/TF/Y £1.00
SGC025 Heavy gauge, Moulded rubber gearbox cover, TA/TB/TC £215.00
SGC026 Bush, brake & clutch pedal  TD/TF £6.00
SGC026A Bush set in chassis  for LHD clutch/brake pedal TD/TF £7.62
SGC026C Pedal Bush brake and clutch TA/TB/TC - YA/YT/YB clutch only £6.00
SGC026D Spacer Washer for Pedal Shaft  TD/TF [2 needed needed per car] £10.50
SGC027 Clutch fulcrum lever TD/TF/Y £50.40
SGC027A Barrel pin Clutch fulcrum lever TD/TF/Y £13.82

SGC028
7 1/4" Clutch Cover  Early  XPAG Reconditioned - EXCHANGE REQ'D    [Plus £40 

SURCHARGE TO BE REFUNDED ON RETURN OF SERVICABLE EXCHANGE UNIT]
£96.00

SGC028A
8" Clutch Cover  XPAG Reconditioned - EXCHANGE REQ'D                        [Plus £40 

SURCHARGE TO BE REFUNDED ON RETURN OF SERVICABLE EXCHANGE UNIT]
£96.00

SGC029 XPAG Clutch cover bolts [6 needed per car]  *****USE SBE309****
SGC029A Dowel Set Flywheel to Crankshaft XPAG (2 dowels) £34.49
SGC029B Dowel Set, Clutch cover or Block to bellhousing XPAG (2 Dowels) £2.95
SGC030 Gearbox drain plug, brass  & Sump plug MPJG £12.60
SGC031 Crush washer for gearbox drain plug  & Sump plug MPJG £0.70
SGC035 Bush - Clutch Pivot fulcrum lever TD/TF/Y £15.11
SGC037 Clevis pin for clutch rod/cable [3 needed per car] TD/TF £2.53
SGC038 Gearbox Top Cover Gasket TB/TC £9.00
SGC038A Gearbox Top Cover Gasket TD/TF/Y £4.20
SGC038B Rear Gasket Gearbox TB/TC £5.40
SGC038C Rear Gasket Gearbox TD/TF/Y £3.60
SGC038D Gearbox To Remote Gasket TD/TF/Y £5.76
SGC039 Oil seal, 1st motion shaft TD/TF/Y £5.34
SGC039A 1st. Motion shaft seal TA/B/C/VA £14.95
SGC040 Gearbox gasket set TD/TF £12.84
SGC040A Gasket set gearbox with front seal TB/TC £27.30
SGC041 Clutch shaft 5/8 inch TB/TC/early TD/YA/YT [7 1/4" Clutch] £49.20
SGC041A Clutch shaft 3/4 inch TD/TF/YB [8" Clutch]RHD only £48.00
SGC041LHD LHD 3/4" Clutch Shaft TD/TF £64.80
SGC041B Circlip Clutch shaft 5/8 inch TB/TC/early TD/YA/YT £1.14
SGC041C Circlip Clutch shaft 3/4 inch TD/TF/YB £0.60
SGC041D Clutch Lever 5/8 inch Shaft TD/TF/YA/YT £70.00
SGC041E Clutch Lever 3/4 inch Shaft TD/TF/YB £90.00
SGC041F Taper Pin for Clutch Lever & Fork TC/TD/TF/Y £3.19
SGC041G Woodruff key for Clutch Lever & Fork 3/4" Shaft £2.10

Woodruff key for Clutch Lever & Fork 5/8"" Shaft ****USE SBE102****
SGC041H Bush for Clutch shaft 5/8" TB/TC/early TD/YA/YT £3.12
SGC041J Bush for Clutch shaft 3/4" TD/TF/YB [8" Clutch] £3.90
SGC041K Clutch Actuating Fork 3/4"  shaft [NEW] £110.40
SGC042 Felt rear gearbox case oil seal TD/TF £9.18
SGC043 Anti rattle spring, base of gear lever TB/TC/TD/TF £24.36
SGC043A Gear Lever Retainer Cup T & Y types £10.00
SGC043B Circlip for Gearlever retainer cup T & Y £13.62
SGC043C Anti rattle spring, base of gear lever Y Types £19.32
SGC043D Gear lever upper spring TA/B/C £11.10
SGC043E Wire circlip upper gearlever TA/TB/TC £0.90
SGC044 Spring set, selector shaft TB/TC [3 springs] £24.00
SGC044A Spring, selector shaft TD/TF £2.88
SGC044C Ball (set of 5) selector shafts TB/TC/TD/TF/Y £1.80
SGC044G Gear Lever Chrome TB/TC/TD/TF £78.00
SGC044J Retaining Dowel Pin Gear Lever £18.00
SGC045 Rubber Gear Lever Snug TA/TB/TC £4.80
SGC046 Original Type Gear Knob TB/TC/TD/TF £16.80
SGC046A Chrome lock nut for gear knob £1.08

29 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

SGC048 Gasket for Clutch Housing TA £13.20
SGC049 MG TA Clutch Linkage Pedal to Operating Arm £84.00
SGC050 Gearbox Top Cover Stud TA/TB/TC/TD/TF/Y   *****USE SBE0053********
SGC051 RHD Clutch Pedal with bush TD/TF £103.20
SGC052 RHD Brake Pedal With Bush TD/TF £103.20
SGC053 RHD Pedal Box TD/TF £126.00
SGC055  Adjustable Clutch Linkage Rod TD/TF [Cable or rod Clutch] £66.00
SGC056 Clutch operating rod TD/TF (adjustable for LH or RH drive) £55.20
SGC057 Bolt Gearbox mounting to rear cover 2" long TA/TB/TC 7/16" BSF £1.80
SGC057A Bolt Gearbox mounting to rear cover 1" long TA/TB/TC 7/16" BSF £1.20
SGC060 Laygear thrust washer rear TD/TF/Y £12.50
SGC060A Laygear thrust washer front TD/TF/Y £12.50

30 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

HOSES
SRH002 Bottom hose -J/M/P £10.20
SRH004 Top hose - P £15.84
SRH009 Top hose - TA/TB/TC/TD/YA/YB/YT/VA/WA £21.30
SRH010 Top hose - TF £17.00
SRH011 Bottom hose set -  XPAG £16.56
SRH011A Hose TA - Y pipe to rear of cylinder head £12.00
SRH012 Fuel Filler Neck Hose Y Type £23.52
SRH012A Fuel Filler Neck Grommet  on rear wing  Y Type £52.80
SRH012B Seal Fuel filler neck to boot floor Y type £6.23
SRH013 Silicone Top and Bottom Hose Set Black TB/TC/TD/YA/YB/YT £66.00
SRH014 Bottom Hose Set  MPJG (2 Hoses Black Silicone) £18.60
SRH014TA Silicone hose full set Black MPJG TA £73.20
SRH015 Silicone Top and Bottom Hose Set Black  TF £66.00
SRH016 Hose clamp set original wire type TC/TD/TC/TD/TF N/A

EXHAUST
SSL001 Bell Stainless Steel complete exhaust system TA £360.00
SSL002 Bell Stainless Steel complete exhaust system TB/TC £290.00
SSL002BB Bell S/Steel complete exhaust system Big Bore Box & Tailpipe TB/TC £298.80
SSL003 Bell Stainless Steel complete exhaust system TD/TF £190.00
SSL007A Bracket, downpipe to gearbox TD/TF £23.40
SSL007B Clamp, downpipe to gearbox TD/TF £18.78
SSL007C Clamp, front pipe to silencer TD/TF £0.94
SSL011A Clamp, tail pipe to silencer TA/TB/TC £0.94
SSL011B Bracket, tail pipe to chassis TA/TB/TC £21.84
SSL011BB Bracket, tail pipe to chassis TB/TC for 1.5" Tailpipe £21.00
SSL011C Cupped washer, exhaust flange TA/TB/TC/VA £15.48
SSL011D Gasket, downpipe to silencer - TA/TB/TC £10.08
SSL011E Exhaust Ring Alternative to SSL011C Cupped washer TA/TB/TC £4.80
SSL013A Hanger, tail pipe [2 needed per car] TD/TF £5.46
SSL013B  Long Bolt & nut  hanger for tail pipe [2 needed per car] TD/TF £1.68
SSL013C Bolt, tailpipe hanger securing  TD/TF*******USE SBY339******
SSL013D Nut, for tailpipe hanger bolt  TD/TF *******USE SBY300A******
SSL013E Clamp, silencer to tailpipe TD/TF £1.44
SSL015 Exhaust manifold MPJG not available

31 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

 STEERING
SST005 Steering box bottom shaft seal modern type £12.00
SST006 Bearing, Ball Cage and Cup Steering Box TA/B/C £20.40
SST006A Gasket for top plate steering box TA/TB/TC £4.63
SST006C Gasket for end cover steering box TA/TB/TC £0.84
SST006D Steering box top plate shim .003" £7.98
SST006E Steering box top plate shim .005" £6.58
SST006F Steering box top plate shim .010" £3.58
SST006G  Steering box end plate shim .003" £1.31
SST006H  Steering box end plate shim .005" £1.70
SST006I  Steering box end plate shim  .010" £1.49
SST007 Steering column Spider bush - TD/TF/Y [6 needed per car] £4.80
SST007A Steering Column Spider Bolt, Nut, Split  Pin and Washer TD/TF/Y  [3 needed per £10.20
SST007B Steering Column Spider Washer TD/TF/Y [3 needed per car] £0.84
SST007C Steering Column Spider Nut TD/TF/Y [3 needed per car] £1.80
SST007D Steering Column Spider Bolt  TD/TF/Y  [3 needed per car] £7.20
SST008 Bluemel Brooklands steering wheel 17" Black [with enamal badge] £294.00
SST008A Bluemel Brooklands steering wheel 15.5"  Black [with enamal badge] £294.00
SST008B Bluemel Blue Enamel Spoke Badge £37.00
SST008C Bluemel Brooklands steering wheel 14" Black [with enamal badge] £294.00
SST008I Bluemel Brooklands steering wheel 15.5" Ivory [with enamal badge] £276.00
SST009 Brooklands steering wheel boss Late TA[splined]/TB/TC £186.00
SST009A Brooklands steering wheel boss Early TA & MMM [Keyed] £186.00
SST010 Brooklands steering wheel boss-TD/TF £144.00
SST015 Nut, steering wheel TD/TF/Y £10.92
SST016 Spring cover, upper shaft, steering column TD/TF/Y £10.80
SST016A Spring cover, upper shaft, steering column TA/TB/TC £33.00
SST017 Cap, spring cover, upper shaft, steering column chrome TD/TF/Y £2.88
SST017A Cap for spring cover,  steering column chrome Late TA/TB/TC £10.13
SST018 Retaining washer bottom of spring cover TA/TB/TC £24.00
SST100 Steering column felt bush Upper - TD/TF/Y £9.12
SST100A Steering column felt bush Upper - TA/TB/TC £5.20
SST101 Steering column felt bush Lower - TD/TF/Y £9.48
SST102 Key(Long) splined shaft to steering column TD/TF £7.26
SST103 Key Steering wheel to shaft TD/TF £7.68
SST104 Key Steering wheel to shaft TA £6.36
SST105 Draught excluder, steering column TD/TF £35.88
SST105A Draught excluder Plate steering column TD/TF £29.88
SST106 Clamp Steering Column Upper Chrome with bolt TD/TF/Y's £7.44
SST109 Circlip Upper Steering Column TA/B/C £0.60
SST110 Clamp Steering Column [Lower TD/TF/Y's Upper TA/B/C] £13.80
SST110A Distance Tube/Spacer for SST110 £6.04
SST110B Bolt, nut & washers for SST110 £1.31
SST115 Steering Rack TD/TF   RHD New £350.40
SST115A Nut steering rack pinion shaft flange TD/TF/Y £2.50
SST116 Female Ball Housing Steering Rack TD/TF £49.99
SST116A Lock tab steering rack ball housing £5.50
SST117 Felt Seal steering rack pinion TD/TF/Y £3.12
SST120 Steering Wheel Original Type TD/TF & Y (without centre) £246.00
SST120A Steering wheel center boss & badge original wheel  TD/TF/Y £67.00
SST122 Steering wheel centre piece 3" diameter TA/B/C spline type original wheel only £20.00
SST121 Steering column support bracket (column to body) TA/TB/TC £36.00

SST999

Lefthand to Righthand Drive Conversion set TD/TF                         Contains:- New 

RHD steering Rack, Track rod ends and locknuts, Brake pipe to master cylinder, 

Throttle pedal, Clutch pedal,  Brake pedal, Throttle pedal return spring, Pedal 

box,  Pedal shaft, Pedal shaft circlips, Pedal shaft spacers, Pedal shaft Chassis 

tube, Speedo cable, Tacho cable. 

POA

32 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

CARBURETTOR / FUEL
SSU001 SU single carb. Gasket/washer pack -  TA/TB/TC/TD/YA/YB/YT £17.16
SSU001A SU single carb. Gasket/washer pack - SA/VA/WA/TF £17.50
SSU003 Float chamber tube nut SHORT PLATED £9.56
SSU003A Float chamber tube nut LONG PLATED £9.56
SSU005 Float chamber tube nut LONG BRASS £5.20
SSU006 Fuel pipe banjo bolt all model £3.30
SSU006A Twin Outlet Banjo for Twin Carbs [AUC1832] £17.70
SSU007 Pump to carb fuel pipe -  TA £20.40
SSU008 Pump to carb fuel pipe TB/TC & TD Mk 2 18" £24.49
SSU009 Pump/pipe to carb fuel pipe  -TD/TF £23.56
SSU009A Pump to carb fuel pipe - YA/YB £21.12
SSU010 Carb to carb. fuel pipe  -  TA £16.80
SSU011 Carb to carb fuel pipe TB/TC/TD [14"] £23.40
SSU011TF Carb to carb fuel pipe TF [16"] £23.40
SSU012 90 degree union, pump to carb. pipe £18.12
SSU015 Slow Running Lever TB/TC £47.14
SSU015A Cable to Lever Cotter Pin & Nut Choke & Slow Running Cable £3.19
SSU015B Spring Slow Running Lever £8.63
SSU015C Slow running cable clip plate TB/TC £19.84
SSU016 Mounting Kit Fuel Pump TD & Early TF £20.34
SSU017 Pad Set for Mounting Fuel Pump TD & Early TF £2.66
SSU018 Fuel pump MMM/T/Y except LateTF  AUA25 £172.98
SSU018A Fuel pump late TF  AZX1331 [replaces AZX1332] dual polarity £172.98
SSU018B Electronic Fuel pump T/Y except LateTF  Positive Earth [AUA25EP] £198.37
SSU018C Electronic Fuel pump - late TF [AZX1332EP] Positive Earth £198.37
SSU021A Throttle connecting rod 5" £41.15
SSU021B Ball End and nut for Throttle connecting rod £4.94
SSU022A Fibre Washers for fuel pipe banjo [bag of 2] £0.72
SSU024 SU pump gasket AUB809X £1.52
SSU025 SU pump gasket AUA4082X £1.25
SSU027 Choke interconnection rod assembly £32.53
SSU028 Union for fuel pump outlet on pump £14.12
SSU030 Petrol tank drain plug & Radiator blanking plug £10.20
SSU031 Fuel pipe & drain plug washer £0.37
SSU035 Cork seal kit for jets - H2 carbs. £4.86
SSU035B Copper washer bottom jet bearing £1.14
SSU037C Nitrophyl ethanol resistant Unsinkable Float 1.75"dia [T2][hole through centre] £16.50
SSU041 Gasket, tank to float unit Cork TC/TD/TF/YA/YB/YT £0.36
SSU041R Gasket set float unit (Ethanol Resistant Rubber) 2 gaskets T & Y £5.80
SSU042 Fuel tank float unit TC/TD/TF with gasket £46.80
SSU043 Set of 6 Screws and Washers for SSU042 £8.28
SSU047 Insulating spacer for 1.25" H2 carb   5mm thick £13.44
SSU047A Insulating spacer for 1.5"  H4 carb TD MK 2/TF 9mm thick £6.06
SSU048 SU Petrol Pump Points £18.25
SSU048B Transil kit for SU Petrol Pump Points £5.10
SSU050 Carb. to aircleaner gasket [1 needed per carb] TB/TC/TD/YA/YB/YT £1.50
SSU051 Carb to aircleaner gasket [1 needed per carb]  TF £0.54
SSU052 Manifold to carb & spacer gasket 1.5" carbs TF/TD Mk2 £1.33
SSU053 Gasket, carb. to manifold TA/TB/TC/TD/YA/YB/YT £0.84
SSU054 Float Lid Gasket T2  carbs T/Y/VA/SA/WA (2 1/4" Internal Dia) £1.08
SSU054A Float Lid Gasket T1 Carbs  (1 3/4" Internal Diameter) £0.84
SSU055 Grose Jet SU H/HS Carburettors [Uprated replacement needle valve] £11.93
SSU055A Float Needle & Seat Kit Viton tip £23.35
SSU056 Float Chamber Overflow Pipe T Types [ 30" pipe ] £15.60
SSU056A Aluminium washer for float chamber overflow pipe £0.70
SSU056B Serrated fibre washer for float chamber overflow pipe £1.20
SSU057 Carb Needle ES (Standard needle for TC/TD/YT 1-1/4" twin carbs) £20.00
SSU057A Carb Needle FI (Standard needle for YA/YB 1-1/4" single carb) £20.00

33 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

SSU057B Carb Needle GJ (Standard Needle TF 1-1/2" twin carbs) £20.00
SSU058 H Type Standard Jet Assembly .090in £16.72
SSU059 H Type Carburettor 'Superdry' Jet Bearing Seal Kit £49.03
SSU060 Fuel pump repair kit Post 1985 not late TF "4BA earth screw on housing" £58.92
SSU065 Float Lid Inlet Filter and Spring £9.42
SSU067 Clevis Pin Short Carburettor Linkage £1.93
SSU067A Clevis Pin Long Carburettor Linkage £2.68
SSU068 Dash pot cover screw & washer [pack of 2] £3.60
SSU069 Jet Lever return Spring £6.94
SSU070 Choke Cable Bracket TD/TF £15.60
SSU071 Flexible Coupling Assembly Throttle  Spindle £14.95
SSU072 Rebuild Kit - For single H2 Carburettor Burlen CRK 203 £82.49

34 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com



PARTS ONLY SOLD TO

MGOCC MEMBERS

IF YOU DON'T SEE WHAT YOU NEED

PHONE 01455 611746

Mon to Fri 10am to 3pm

UPDATED: 09:30  01/05/2025

Prices are subject to change without notice.

Prices INCLUDE VAT where applicable

PART NUMBER DESCRIPTION MEMBERS PRICE 

WINDSCREEN
SWS001 Screenframe fix screws TA/B/C £16.80
SWS002 Screenframe fix screws TD/TF £16.80
SWS005 Screen pillar bolt & nut [6 needed per car] TA/TB/TC £2.46
SWS006 Screen pillar bolt & nut  [6 needed per car]TD/TF £1.92
SWS006B Spacer [tapered] for screen pillar top bolt TD/TF £6.06
SWS006C Screen pillar top bolt, nut, washer TD/TF £1.20
SWS010 Stud upper w/screen support £2.64
SWS010A Pinned Stud upper w/screen support £2.64
SWS011 Adjusting cone TA/TB/TC/TD/TF/YT £4.84
SWS012 Screen wing nut TA/TB/TC/TD/TF/YT £14.93
SWS013 Stud lower windscreen support £5.28
SWS014 D' Washer TA/TB/TC/TD/TF/YT £3.73
SWS015 Locknut Screen Pivot TA/TB/TC/TD/TF/YT £1.08
SWS016 Dome Nut TA/TB/TC/TD/TF/YT £6.06
SWS017 Hood/Windscreen fix/wing bolt £10.68
SWS019 Rubber peg for wiper blade £0.90
SWS020 Wiper Blade TA/TB/TC/TD/YT (7") £8.76
SWS020A Wiper blade TF £11.40
SWS020B Wiper Blade YA/YB (9") £15.48
SWS021 Wiper arm left hand - TD £24.00
SWS021A Wiper arm TF £21.42
SWS021B Wiper arm left hand - TA/TB/TC/YT £29.10
SWS021Y Wiper arm YA/YB £44.10
SWS022 Wiper arm right hand - TD £24.00
SWS022B Wiper arm right hand - TA/TB/TC/YT £29.10
SWS023 Wiper connecting bar straight - TD 3 Wipers £21.60
SWS024A Wiper connecting bar cranked TA, TB, TC, TD, YT £36.00
SWS024B Wiper drive arm & connecting bar  Late TD centre motor £18.00
SWS025 Wiper idle bearing & peg £12.72
SWS028 Aeroscreen Bluemels  British made complete with pedestals £138.00
SWS029 Rubber draught excluder under screen £15.00
SWS034 Rubber seal screen pillar to scuttle TA/TB/TC £4.04
SWS034Y Rubber seal screen pillar to scuttle [Set of 2 ] YT £36.00
SWS035 Rubber seal screen pillar to scuttle  TD/TF £4.08
SWS036 Windscreen side Mirror Head Lucas 160 Reproduction with emblem £156.00
SWS037 Windscreen Mirror Arm RH side £48.00
SWS037A 'Easyfit' mirror arm [fits in w/s rake slot] £38.40
SWS037B Windscreen Mirror Arm LH side £48.00
SWS038 Mirror arm screw 2BA x 3/4" Pozi chrome ***Use SBY 090E***  
SWS038A Mirror arm screw 2BA x 3/4" Slotted chrome ***Use SBY 090D***  
SWS039 Glass for external mirror 160 type £19.20
SWS042 Top corner bracket - LH £20.40
SWS042U Top corner bracket - LH [UNDRILLED] £9.90
SWS043 Top corner bracket - RH £21.60
SWS043U Top corner bracket - RH [UNDRILLED] £9.90
SWS044 Bottomcorner bracket - windscreen £15.00
SWS045 Glass to frame glazing rubber - TA/TB/TC/TD/TF £14.00
SWS045A Glass to frame glazing rubber - Y Types £8.40
SWS046 Threaded strip, inside windscreen side [2 needed per car]  TD/TF £14.00
SWS046A Threaded strip, inside windscreen side [2 needed per car] TA/TB/TC £17.88
SWS047 Threaded strip, inside windscreen side [2 needed per car] YT £16.00
SWS050 Reproduction 'Auster' badge  for windscreen £4.08
SWS051 Rivet for 'Auster' badge [Pack of 2] £0.73
SWS053 Handle & Nut for wiper motor switch £9.90
SWS053A Fitting kit for wiper motor to screen T Types [not TF] £40.80
SWS054 Wind Wings T types £108.00

35 OF 35       Email: info@mgoctagoncarclub.com
CHECK THE LATEST PRICES  ONLINE  www.octagoncarclub.com


